Sironc

=) TFTAIRID /RS

DI CHUN IRON WORK CO., LTD.

408 At EERR K7 (BERMEHREE)
NO. 7, Jingke 1st Rd., Nantun Dist.,

Taichung City 408, Taiwan
Tel:+886-4-2358-5879 Fax:+886-4-2358-3695
www.auto-strong.com

20230731

[ALVTQ

A STRONGHOLD BY PRECISION AND POWER



INSPIRING INNOVATION
FOR A LIMITLESS FUTURE.

_=




CONTENTS

V)

NHT-200 =:=50) NB-200A z==i) V (r=szgin) VT&VIT rzi=

— M=+ M\chse _ _ R _ R
%ﬂr_iig;«ﬂq’: SMBANDPEHERE =~ =T chEmEskE = TR T T o 2 R
é jow%ond ?J\ow through-hole 3-jaw extra large through-hole f’hjrgnvg\?/wer? s E)ygv?err’%%uck ?h;gn/g%nr?oﬁej%véxg% uéykpe non
power chuck. (adapter included) power chuck. {adopter included) (odapter excluded) (adapter excluded)

]
'7’

) f‘i

£
Z

SC wrasm) SIC (s SK ) VA =izzi) V(40"-79") rezzn) DV/DN VRA ==r)

— == s - _ 1 N = =i — - N =T . ) _
=MiEE5eas P T E3eEE =& 7 E5eEE = M P 8B 5eEE g?g%/mﬁmﬁ %%M,m@ 3758 F o B EE S BE
i i . ’ i 3 d AR IR
3 jaw scroll chuck plain A'IOW scroll chuck D|G|ﬂ 3 jaw STfOng scroll chuck Th#gn/gwh?hog\eeggﬁevgrﬁuck, Large v:e;ge type non through-hole Vertical and vertical horizontal yggégﬁg%ghggg&gﬁ%gmc%df]or

back, solid jaws. back, solid jaws. plain back, 2-piece jaws. (adapter included) power chuck.(adapter excluded) stationary power chuck.

SIK sz KD SE V-300RA ==:=ix) CR CRA

T 38 HE BN FREE AR = TUEEERNEE ITUESE)FEE 3B P E B R EE ELE Y EEE T
4-jaw strong scroll chuck 3-jaw strong scroll chuck D1 camlock 6-jaw scroll chuck Non Througﬁh hole power chuck Collet chuck for cylindrical Collet chuck for short
plain back, 2-piece jaws. direct mounting, 2-piece jaws. plain back. forvertical lathe. (adapter included) center mount. taper mount.

P39 P41

P19 P21 P22

N-200A =:==m) N-200 ¢ NT-200 cr==in) NIT-200 r== M MK MA

DV)

=yEEsRIchee voiE
= Mep 2= 5 = Mep 223 5E TR = M ep 2= B B I3 T 2 e R B AEPzEmEEL =~ SAEELTS R P 2B A
3-jaw through-hole power 3-jaw through-hole power 2-jaw through-hole power 4-jaw through-hole power High speed through-hole Sauherrﬁ h?:eed thiough-hole Compact high speed through-hole
chuck.(adapter included) chuck.(adapter excluded) chuck.(adapter excluded) chuck.(adapter excluded) rotary hydraulic cylinder. Co‘?ﬂpchj’ ro?gry hydrqu%c cylinder. rofary hydraulic cylinder.




P44

ML-CM.B
[EP S RES L s i

Extra large through-hole
rotary hydraulic cylinder.

P48

MM

BRIt
R

High speed and compact
through-hole rotary hydraulic cylinder.

P47

CM.B MS =isirm)

HEEET RKE B R ]
Hydraulic cylinder coolant Non through-hole rotary hydraulic
collector. cylinder.(valve included)

P50 P51

MS-C =5zt - proze)

chE B8 H L
Non through-hole rotary hydraulic

cylinder.(valve and switch brackets
included)

P52

MRR Emeszs)

th &5 B i 85 h B 5T
Short type non through-hole

rofary hydraulic cylinder.
(for rotary union)

P55

H)
it B SR ERHE T

Hard jaw for hydraulic
power chuck.

MS250C/MS300C

s sy et (SSELERY -
hEEESHERLL Bhoze)
Non through-hole rotary hydraulic

cylinder.(valve and switch brackets
included)

MH-F
o & B8 ER L

Non through-hole rotary
hydraulic cylinder.

SKC
MAEEM

Soft jaw for strong scroll
chuck.

MR MRA

DEEEMEEHEL @ PEEERIREEHET

Short type non through hole Short fype non through-hole rotary
. ) hydraulic cylinder with central
rotary hydraulic cylinder. bore for air.

HB4
HAEM

Boring mill jaw.

P57 P59

”’fa: f

HC HC40-1

AREPETHERREELEM
Soft jaw for hydraulic
power chuck.

HEESEER AT
Soft jaw for hydraulic
power chuck.

P59

H]40-1
ABIPEHESREEREM

Hard jaw for hydraulic
power chuck.

P62

F52
SmEmE 5EEA

High speed and light weight type

strong finger chuck for aluminum
wheel.

P66

BL
= MERETURER

3-jaw ball swing lock chuck.

P70

SB-ES
FmENEN KR

Pneumatic power chuck.

P60 P61

il =1

ADAPTER T-UNTS
BRI TR

Mounting adapter on short

Suitable for power chuck.
taper spindle noses DIN55026.

P64

F61 F66
SmmE 2R SriRE PEEE

High speed and light weight High speed and \igﬁht weight type

type strong finger chuck strong finger chuck for aluminum
for aluminum wheel. wheel.

P67 ﬂ .. P68
: . o -
o
Y

DR P165

=MERITUREE FENEET P
3-jaw draw down power Floating plate center chuck
chuck.

P71

PB-ES
RENENIKEE

Pneumatic power chuck.

P65

NL-A ==zn)

—_— 4=10 coxhEE =
=EMRTEPZMEIEE
3-jaw long stroke through-hole

power chuck.(adapter included)

P69

HN =z=5)

ey =y golth [BR AX O
=B EEDZHEREE
3-jaw extra high speed through-hole
power chuck.(adapter included)




BUSINESS
CORE

QUALITY FIRST | BOUNDLESS INNOVATIONS
LOOK ABROAD | BASED IN TAIWAN

RxemE @ EMfE K

"TAUTO STRONG ; BEMHE - WIS =K45E, - 588]) » THA - 452 - i
ZREKBENEE  BENTEZ2EESREEM @ BilREELFFXK °
RISEERRERERT NS EEHLAIBRTS
BFELEREE  BeBERBARE  AOSEEM  RETHE "'0F
258, - RIZEFERRERE @ SHEERRIERH °

-~ "

NVMIVL NI JAVIA

© PR FRIREERR AR SLOKAR AR - BREEZTRE -
- SRS IB T AR BIRAR - BAEELBHMELF

KM o RIZAFFERRERPT - ARThBA 34 MR 03e i -

- BACNCERRIGEUIHIROMH - £EZ@EENME -

- BAXNEHRELEE ESZIJJ{EJKEIZIKm%O

- WSS AR - WANAEEMEE -

- EREEETEARAEMIEBIREE

- ECEBUNHENRIR M T X THRMHITLEN I ACNCE RSB
- BT HREHEAR P S BB S CNCE IR &R B = TR - HEBEil

BRBELALI

. BAEMCSHAR A A ERRRER ] o

- D TRBAIEE HIRAKENEENRE o

.« AAYERUMNIL R BECEMARKEREEEE ©

- ARIBIEXNENAE) S TAADERAR » WAL HERD

FERENE -

* BiEISO-9002 RIRFIEFIFE -

. EBiBISO-9001 FHE RIAHIEEIEE ©
- BARHERPRAR ©
- BELHPTH LT ESRFTIAEEE -

- BREEEMESPRERHERER -
- BI40BF BB ©

. Mz’ézmezﬂlﬂ‘rﬁéﬂﬁ °

- BEXGEEER

. Mé‘ézowu/aﬁﬁﬁﬁﬁ

- BETMBAOERH A RIRIF LR o

- BEZEEZLENBRBEAS BRLEEIERMTLEFMRES -
« MM1552B2 R 1EFa B FhZe B 88 i B F1 441820228 B R 48 -

. @iBISO-14001IBIEE EE%:.MLM

« B3EMA1 45358 B R 22 E B M ER T ©

- Hf3$CR65A6E S 3aEg o

- BIkEEEWEESIE



/7

OUR MILESTONES

RECHEZEES—EEHNHND

®IRS BrIRMEsHE - BT
EFERER  FKBRENBAFRNAETE

ReEB—SHEFSE
RELAITT IR 0 B FEREKATEY -

B | B/t

MM1552B— 2 B 5l & G

B SRS TS

Bl Fh Bk 1B 55 88

BEBEE Pz EE R BT
High speed and compact through-hole
rotary hydraulic cylinder




HEAD TO

THE GLOBAL MARKET

AUTO STRONG

FIFTY YEARS OF
RESOUNDING INTERNATIONAL

REATHRENEY  BMIRETEENKRINER
O - 1992F A TEMRBECHW&R —AUTO
STRONG ° HfIHSEEFE 2 ANERE  BRAEZHE
BB EIRR - 2 T LUK ER 3B 5K Bl #h FISAE o
TwmERE - B - &25 - THKIRE  E25E
BEFH @ BB ERFE TEBXREH  BEKE
AIREE o

AUTO STRONGIi TME(EZEFhERTE © ©&E 7 T
BIEEE - FIFEMPFNES B ARMEREINENF
IRK » RSt AEEFRIEE KAEE -

el - BiEETIE - 2151588 ©

. ERBIR - LUERIB KR ©

ﬁ’xﬂiﬁ 2 i.Kn\E%I@E

EBINHONEBER KBRS » LIENEHE RIS
1ERIBkEL o S E "B ME, « THEROKESER ) 0 2
EI1SO 14001 IRIEEIERM » BB aEREHINE -

I NEFIEBE =F558551S014064-1 ;BB RELEE » RIK

IS G - WA AERBAMTEE3 - BKER

Py | '~1 "
o

£y
[

0N




Sirong

o =
R 1%

SC-3
SC-4
SC-5
SC-6
SC-7
SC-8
SC-9
SC-10
SC-12
SC-16

AUTO
A STRONGHOLD BY PRECISION AND POWER.

SC
=MUEHSE (A1 EA)

3-jaw scroll chuck plain back, solid jaws
(front and back mounted)

1.1E~ R - STBURMER °

2. BEERARAETENEERR - REBERM Y -

3. #5/E0.03mm (0.0012") T.I.R.

4 FEMERKEMEH  BRARNSRER; BESRK—®R
ME3MEZM A -

ki
4 Dack Moanting

d
i

(]

I
E
S
o
A,

Froemt Maummng

S3-80-12=1
B0 1 Hadl

BT : mm

86 46 60 73 16 4.1  3-M6/3-M6x50 36 11 143 7 3.0 900 2500 1.7 — @2-070 | B24-B64
112 60 80 95 24 48 3-M8/3-M8x70 42 14 166 8 45 1200 2500 3.7 — D3-095 | @29-D84
132 60 100 115 32 4.8 3-M8/3-M8x70 50 16 203 8 6.5 1500 2500 5.2 0.01 ?3-0110 | @33-@100
167 67 130 147 45 55 3-M10/3-M10x70 63 19 23.7 10 9.0 2200 2000 9.3 0.03 D4-@160 | B48-@150
192 765 155 172 58 55 3-M10/3-M10x80 77 215 29.4 11 11.0 2500 2000 14.2 0.06 DA-@180 | @56-@170
200 76.5 160 176 58 5.5 3-M10/3-M10x80 77 215 29.4 11 11.0 2500 2000 16 0.07 @4-@190 | 362-2180
232 84 190 210 70 6 3-M12/3-M12x90 87 24 356 12 15.0 3000 2000 22.7 0.15 @5-0220 | 962-@210
273 87 230 250 89 8 3-M12/3-M12x90 98 28 39.5 12 195 4000 1800 31.8 0.25 26-0260 | @70-@250
310 96 260 285 105 7 3-M12/3-M12x110 110 30 456 14 21.0 4200 1800 44.8 0.58 @10-@300/ @86-@290
405 122 345 375 160 8.7 —/6-M14x130 146 42 56.3 15 25.0 4500 1500 102 1.75 @30-@380/@110-B360

o =
R 1%

SIC-7
SIC-9
SIC-12
SIC-16

SIC
mTUBEI5EEE (Bt REEA)

4-jaw scroll chuck plain back, solid jaws
(front and back mounted)

1. WARENEETEZRR - AT BIBEERIERD -

2. BEIHHRE - BEMS -

3. RTIEMERETESCRIAEA -

4 FEMERKREMEE  BARSEEE; BESR—K
MEfG A

f i
4 L]
¥ i
5
i
[TRR & | .:| -1
i
[}
F
h
FATTE0C1 3 A0 M et
BEC1E-15 — i i
E
5=
. - =y - .-_ 2 = H e 1 b-. -
g:“-ﬂ_péi!é' 12=30 Fraen Mty

B{i7 : mm

192 765 155 172 58 55 3-M10/3-M10x80 77 215 29.4 11 11.0 2500 2000 14.8 0.06 @4-@180 | 856-@170
232 84 190 210 70 6 24 356 12 15.0 3000 2000 23.2 0.16 @5-0220 | 262-2210
310 96 260 285 105 7 3-M12/3-M12x110 110 30 456 14 21.0 4200 1800 47 0.58 @10-@300 / @86-@290
405 122 345 375 160 8.7 —/6-M14x130 146 42 56.3 15 25.0 4500 1500 107 1.72 @30-@380/@110-@360

3-M12/3-M12x90 87



o 5t
# 18

SK-4
SK-6
SK-7
SK-8
SK-9
SK-10
SK-12
SK-16

AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

SH-B-SE-12= 31
SH-16=70

SK
=3 NEEFEE (&R

3-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

1. @AOKREFEHEERE @ EMESEEHIE > EMES
REJHINBEBENT >  MEXBERAE -

2. F@Mel{EIEEMA&RMMAE -

3. ¥6/£0.03mm (0.0012”) T.L.R. °

4. REMEBEREXEMEE  EANRSELE ; BEASR—MK
MEIF i A -

i Bk Mounirg

-
i

i

E] w1
Frort Moiinting

BE{T7 : mm

112
167
192
200
232
273
310
405

58
67
76.5
76.5
84
87
96
122

80 95
130 147
155 172
160 176
190 210
230 250
260 285
345 375

32
45
58
58
70
89
105
160

4.8  3-M8/3-M8x65 47 19 316 8 45 1200 2500 3.8 — D3-@95 | @34-390
55 3-M10/3-M10x70 72 26 40.2 10 9.0 2200 2000 9 0.03 D4-3160 | B55-@150
55 3-M10/3-M10x80 81.2 28 42 11 11.0 2500 2000 13.8 0.06 @8-@180 | @62-@170
55 3-M10/3-M10x80 82 28 42 11 11.0 2500 2000 15.5 0.07 @8-@190 / B68-@180
6 3-M12/3-M12x90 909 32 51.2 12 15.0 3000 2000 22 0.16 @11-@220/@70-@210
8 3-M12/3-M12x90 100.5 35 56.7 12 195 4000 1800 29.7 0.26 @12-@260 / @80-B250
7 3-M12/3-M12x110 1145 40 56.8 14 21.0 4200 1800 435 0.58 @15-@300/ @90-@290
87 —/6-M14x130 148.6 50 76.1 15 25.0 4500 1500 98 1.72  @30-@380 / @110-@360

o =
R 1%

SIK-7
SIK-9
SIK-12
SIK-16

SIK
MM BT (i HHLA)

4-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

TREMIENARENBREEEETHNMT -

2EMEFRFEZMT - ITRFBRABETH -

3. R~1EHIERETEASKEUAHE -

AREMERKEMRE BRARSEEE; BRER—KR
MEfF A -

L
i Bacs Mourtng

B iy
Froce Kiauning

B{i7 : mm

192
232
310
405

76.5
84
96

122

155
190
260
345

172
210
285
375

28-@180 | 362-@170
@11-@220 | @70-2210
@15-@300 / @90-B290
@30-2380 / @110-B360

58 55 3-M10/3-M10x80 82 28 42 11 11.0
70 6 3-M12/3-M12x90 96 32 51.2 12 15.0
105 7 3-M12/3-M12x110 1145 40 56.8 14 21.0
160 8.7 —/6-M14x130 148.6 50 76.1 15 25.0

2500
3000
4200
4500

2000 14.1 0.06
2000 222 0.16
1800 45 0.58
1500 108 1.72



B 3
R 1B

KD4-8"

KD5-8"

KD6-8"
KD6-10"
KD6-12"
KD8-10"
KD8-12"

Siron

AUTO

G

A STRONGHOLD BY PRECISION AND POWER.

KD
348 = [T B B 2 56 2

3-jaw strong scroll chuck D1
camlock direct mounting, 2-piece jaws

1. RIFFEE0.03mm (0.0012") T.I.R. °

2 ZERY | —XREFERNARHRILIRT - —HEERIERH o

3. ABMBERXKEMEFE - BRARSRLE  BESK—KBME
3fFZMm A -

" i
L
]
I i]'
_P 1
_|.$_1. i- B
i 0 ¥ _|E
i, il
= == ==r s ou, X
i B g
ii T ]
]
PR T |
! '
] i
1
|
e
A 1

81 : mm

D1-4
D1-5
D1-6
D1-6
D1-6
D1-8
D1-8

200
200
200
250
306
250
306

77.2
77.2
77.2
86
107.5
86
107.5

53
55
58
76
103
80
103

82
82
82
90.9
114.5
90.9
114.5

28
28
28
32
40
32
40

42.2
42.2
42.2
50.8
57.8
50.8
57.8

11
11
11
12
14
12
14

63.513 / 13 /15.8/ 82.55
82.563 / 16 / 19 /104.78
106.375/ 17 /22.2/133.35
106.375/ 17 /22.2/133.35
106.375/13.5/22.2/133.35
139.719/ 19 /25.4/171.45
139.719/ 18 /25.4/171.45

115
115
115
19.5
21.0
185
21.0

2500
2500
2500
4000
4200
4000
4200

2000
2000
2000
1800
1800
1800
1800

18.5
18
17

29.5
a7
27
a7

0.07

0.07

0.07
0.2
0.5
0.2
0.5

@8-0180 | ©62-@170
@8-1180 / @62-@170
@8-1180 / 262-@170
@11-@220 | @70-@210
@15-@300 / @90-B290
@11-@220 | @70-B210
@15-@300 / @90-B290

B R
R 1%

SE-4
SE-6
SE-7

mt
Bo
>l
el
&l

N TUE )P ER

6-jaw scroll chuck plain back

1. 8588 ~ IREE7] ~ TAPE - ETRER LFRFFME - ERALLEINER
RiBH -

2. RKILEERE - EFOTITHERERRE -

3. BEEMNICE - EEREERE -

4. FEMEBRKEMNERE BRARSEEE  BRASR—RME S
R At -

BE{i7 : mm

112 66 80
165 67 130
192 76,5 155

95 32 4.8 3-M8x65 45 14 397 8 30 6.5 1.6 440 1200 4 — @2-@32
147 51 55 3-M8x70 66.5 19 40.7 10 233 6.2 2.8 660 1200 9 0.03 ?3-@51
172 80 5.5 3-M10x75 77 215 615 11 24 53 3.6 850 1000 14 0.06 @3-380



i
K]

N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11
N-212A6
N-212A8
N-212A11
N-215A8
N-215A11
N-215A15
N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

B3l
[ERLd

(mm)

@33
@33
@45
A5
A5
@252
@52
@252
a75
@75
a75
291
@291
291
@117.5
@117.5
@117.5
@117.5
@117.5
@117.5
2180
@180
@205
@205
@205
@230
@230
@230

M7
BE
(mm)
5.4
5.4
55
55
55
7.4
7.4
7.4
8.8
8.8
8.8
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
12
12
12
18
18
18

RABEH
#1173
(kgf)
1784
1784
2243
2243
2243
3558
3558
3558
4385
4385
4385
5812
5812
5812
7240
7240
7240
7240
7240
7240
9177
9177
9177
9177
9177
10197
10197
10197

3-jaw through-hole power chuck
(adapter included)

1. REFASHREEHMME > FAIeBsEKSKREEL MFE
B MReEEEERM AT -
2. R : FFADIN 55026 X EHiZE#E -

=A S{K{Eﬁﬁ 58 =g EHEE HE HE S
xEH BEN OBR w0 mEE BM &M
3671 28.5 7000 7.8 0020  M1036  HJOS5 HCO5
3671 285 7000 9 0.023  M1036  HJO5 HCO5
5812 285 6000 155 0065  MI1246  HJ06 HCO6
5812 28.5 6000 147  0.062  M1246  HJO06 HCO6
5812 28.5 6000 17.3 0073  MI1246  HJ06 HCO6
9075 26.5 5000 258 0190  M1552  HJO8 HCO8
9075 26.5 5000 25 0184  M1552  HJO8 HCO8
9075 26.5 5000 29.3 0217  M1552  HJO8 HCO8
11319 275 4200 41 0370  MI1875  HJ10 HC10
11319 275 4200 38  0.340  M1875  HJ10 HC10
11319 275 4200 484 0436  MI1875  HJ10 HC10
14990 275 3300 625 0809  M2091  HJ12 HC12
14990 275 3300 595 0770  M2091  HJ12 HC12
14990 275 3300 69.9 0912  M2091  HJ12 HC12
18355 235 2500 125 2255  M2511S  HJ15 HC15
18355 235 2500 118 2241  M2511S  HJ15 HC15
18355 235 2500 138  2.822  M2511S  HJ15 HC15
18355 235 2000 146 3961  M2511S  HJ15 HC15
18355 235 2000 138  3.744  M2511S  HJ15 HC15
18355 235 2000 191 5183  M2511S  HJ15 HC15
23861 30.6 1800 215  7.355  ML2816 HJ24-1  HC24-1
23861 30.6 1800 202  6.910 ML2816 HJ24-1  HC24-1
23861 26.5 1400 332 18199 ML3320 HJ24-1  HC24-1
23861 26.5 1400 317  17.376  ML3320 HJ24-1  HC24-1
23861 26.5 1400 286  15.677 ML3320 HJ24-1  HC24-1
24472 29.5 1200 530 43 ML3320  HJ24-1  HC24-1
24472 29.5 1200 515 43 ML3320  HJ24-1  HC24-1
24472 29.5 1200 485 42 ML3320 HJ24-1 HC24-1

EBfil : mm
I HF
B

(mm)
@6-0135
?6-@135

?15-0169
?15-2169
?15-0169
@20-@210
@20-2210
@20-2210
@25-@254
?25-3254
@25-@254
@30-@304
@30-2304
@30-2304
@50-@381
@50-2381
@50-@381
@50-@450
@50-@450
@50-@450

@120-@510

@120-2510

@150-@610

@150-@610

@150-2610

@210-2800

@210-@800

@210-2800

R <
N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11
N-212A6
N-212A8
N-212A11
N-215A8
N-215A11
N-215A15
N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

A B (F%)
135 71 110
135 88 110
169 96 140
169 91 140
169 111 140
210 109 170
210 103 170
210 126 170
254 120 220
254 113 220
254 145 220
304 129 220
304 122 220
304 154 220
381 160 300
381 149 300
381 184 300
450 160 300
450 149 300
450 184 300
510 169 380
510 155 380
610 186 520
610 183 520
610 166 520
800 189 520
800 186 520
800 169 520

DE F

14 15 63.513
14 32 82.563
20 20 63.513
20 15 82.563
20 35 106.375
25 23 82.563
25 17 106.375
25 40 139.719
30 25 106.375
30 18 139.719
30 50 196.869
30 25 106.375
30 18 139.719
30 50 196.869
43 33 139.719
43 22 196.869
43 57 285.775
43 33 139.719
43 22 196.869
43 57 285.775
60 41 196.869
60 27 285.775
60 45 196.869
60 42 285.775
60 25 412.775
60 45 196.869
60 42 285.775
60 25 412.775

G

96
82.55

H

J

K

82.55 15.5 3-M10

104.78

104.78 82.55

116

104.78

104.78 133.35
133.35 104.78

150

133.35

133.35 171.45
171.45 133.35

190

171.45

17145 235
171.45 133.35

190

171.45

171.45 235

235
260
235
235
260
235
330.2
330.2
463.6
463.6
463.6
463.6
463.6
463.6

171.45
235
330.2
171.45
235
330.2
235
330.2
235

14
16

28

3-M10
6-M10
6-M10
6-M10
6-M12
6-M12
6-M12
6-M16
6-M16
6-M16
6-M16
6-M16
6-M16
6-M20
6-M20
6-M20
6-M20
6-M20
6-M20
6-M24
6-M24
6-M24

330.2 32.5 6-M24
463.6 35 6-M24

235

28

6-M24

330.2 32.5 6-M24
463.6 35 6-M24

33
33
45
45
45
52
52
52
75
75
75
91
91
91

1175

1175

1175

1175

1175

1175

180
180
205
205
205
230
230
230

N

<

O

o

max. max. min.

26.5
26.5
32
32
32
38.7
38.7
38.7
51.4
514
514
61.3
61.3
61.3
82
82
82
82
82
82
1125
1125
131.9
131.9
131.9
6 162
6 162
6 162

o o o o o o o o o o o o o o g oo g g oo o g g o &~ b

19.75
19.75
22.75
22.75
22.75
29.75
29.75
29.75
33.75
33.75
33.75
45.75
45.75
45.75
45.25
45.25
45.25
79.75
79.75
79.75
60.5
60.5
87.5
87.5
87.5
153.5
1535
1535

7.75
(.15
9.25
9.25
9.25
11.75
11.75
11.75
14.25
14.25
14.25
15.75
15.75
1575
15.25
15.25
15.25
15.25
15.25
15.25
245
245
245
245
245
245
245
245

P

max.
16
33
31
26
46
375
315
545
335
26.5
58.5
33
26
58
40
29
64
40
29
64
52
38
61
58
41
61
58
41

[=]
min.

6
23
19
14
34

215
155
385
14.5
75
39.5

QR
2 10
2 10
212
12
12

16
16
16
21
21
21
22
22
22
22
22
22
25
25
25
25
25
25
25
25

g o g g g o g g o g g g g g N NN NN NN NN NN

S

20
20
19
19
19

25
25
25
28
28
28
43
43
43
43
43
43
38
38
38
38
38
38
38
38

31
14 20.5 35
14 205 35
14 20.5 35

40
40
40
50
50
50
62
62
62
62
62
62
64
64
64
64
64
64
64
64

U

max.

vV W

X

M40x1.5 3-M6 44.5 31
M40x1.5 6-M10 44.5 31

M55x2
M55x2
M55x2
M60x2
M60x2
M60x2
M85x2
M85x2
M85x2
M100x2
M100x2
M100x2
M130x2
M130x2
M130x2
M130x2
M130x2
M130x2
M190x3
M190x3
M215x3
M215x3
M215x3
M250x3
M250x3
M250x3

6-M10 60
3-M6 60
6-M12 60
6-M10 66
3-M6 66
6-M16 66
6-M12 94
3-M8 94
6-M20 94

37
37
37
38
38
38
43
43
43

6-M12 108 51
3-M8 108 51
6-M20 108 51
6-M16 139 66
3-M10 139 66

6-M24 139 66
6-M16 139 66
3-M10 139 66
6-M24 139 66
6-M20 206 73
3-M12 206 73

6-M20 230 73
6-M24 230 73
3-M10 230 73
6-M20 262 73 180
6-M24 262 73 180
3-M10 262 73 180

Y

62
62
73
73
73
95
95
95
110
110
110
130
130
130
165
165
165
165
165
165
180
180
180
180
180

Bfil : mm
26
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1



..'0"‘ ..00‘.“"‘..‘
."““.“0"‘.‘.‘
P S S S O e
D e S o
LTSI T ===
P S OO e
P e

AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

N-200 _ —__ NT-200
=Mopz=HERE (AFEER) ZMopz=hEREE (AFEER)

3-jaw through-hole power chuck 2-jaw through-hole power chuck
(adapter excluded) (adapter excluded)

- REBFASREEMME - A BIESEREEERHE - REBFASRESEMME - A RBESREECRAER
R MESE8RRENTEA M B MESEEEENRA T -

1H Semanom Fich 1.5
]

Samanon Pach 3.0

T8 Serraticn Pich 1.5

= i
':I.' i
- T
!: "
o
» ]
! oo A L PE0Epos - MO, 305
o EA" M-AHH-- TR
A H-220-R-E2d
BEfil : mm
B
R B
N-204 @26 10 5.4 1428 2906 31.6 8000 4 0.007  MO0928A  HJO5 HC04 @4-@110
N-205 @33 10 5.4 1784 3671 28.5 7000 7 0.018 M1036 HJO05 HCO5 @6-@135 - .
N-206 @45 12 55 2243 5812 28.5 6000 135  0.057 M1246 HJ06 HCO06 @15-0169
N-208 @52 16 7.4 3558 9075 26.5 5000 23 0.17 M1552 HJ08 HCo8 @20-@210
N-210 @75 19 8.8 4385 11319 27.5 4200 35 0.315 M1875 HJ10 HC10 @25-@254
N-212 @91 23 10.6 5812 14990 27.5 3300 565  0.737 M2091 HJI12 HC12 @30-@304 B80T+ mm
N-215  @117.5 23 10.6 7240 18355 235 2500 111 2.27 M2511S HJ15 HC15 @50-2381 A 3t
N-218  @117.5 23 10.6 7240 18355 23.5 2000 131 355 M2511S HJ15 HC15 @50-B450 =8
N-220 @180 23 10.6 9177 23861 30.6 1800 190 6.5 ML2816  HJ24-1 HC24-1  @120-@510 NT-205 @33 10 5.4 1189 2447 19.5 7000 6.8 0.017 M1036  HJO5  HCO05 @6-3135
N-224 @205 26 12 9177 23861 26.5 1400 270 14.8 ML3320 HJ24-1 HC24-1 @150-@610 NT-206 @45 12 55 1495 3875 18.9 6000 12.8 0.054 M1246  HJ06  HC06  @15-@169
N-232 @230 34 18 10197 24472 29.5 1200 470 41 ML3320 HJ24-1 HC24-1  @210-@800 NT-208 @52 16 7.4 2366 5975 18.4 5000 22 0.163 M1552  HJO8  HCO08  @20-@210
NT-210 @75 19 8.8 2927 7546 18.4 4200 34 0.306 M1875  HJ1I0 HC10  @25-@254

= NT-215 @117.5 23 10.6 4823 12236 5.3 2500 106 217 M2511S  HJ15 HC15 ?50-@381
N-204 110 59 85 14 706 16 3-M10x60 26 23 1125 525 35 -65 10 175 23 M32x1.5 38 24 495
N-205 135 60 110 14 8255 15 3-M10x60 33 26,5 19.75 7.75 1 - 10 20 25 MA40x1.5 445 31 62

N-206 169 81 140 20 104.78 16 6-M10x80 45 32 2275 925 11 -1 12 19 31 M55x2 60 37 73 7 7t
I

N-208 210 91 170 25 133.35 20 6-M12x90 52 38.7 29.75 11.75 145 -15

NT-218 @117.5 23 10.6 4823 12236 15.3 2000 122 3.31 M2511S  HJ15 HC15 @50-@450

4 2

4 2

5 2

5 2
N-210 254 100 220 30 17145 22 6-M16x100 75 5 514 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110 NT-205 135 60 110 14 8255 15 4-M10x60 33 4 265 19.75 7.75 1 -9 2 10 20 25 M40x1.5 445 31 62
N-212 304 110 220 30 171.45 23 6-M16x110 91 6 61.3 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130 NT-206 169 81 140 20 104.78 16 6-M10x80 45 5 32 2275 925 11 -1 2 12 19 31 M55x2 60 37 73
N-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 16 5 22 43 62 MI130x2 139 66 165 NT-208 210 91 170 25 133.35 20 6-M12x90 52 5 387 2975 11.75 145 -15 2 14 205 35 M60x2 66 38 95
N-218 450 133 300 43 235 30 6-M20x135 1175 6 82 79.75 1525 7 -16 5 22 43 62 M130x2 139 66 165 NT-210 254 100 220 30 171.45 22 6-M16x100 75 5 514 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110
N-220 510 134 380 60 330.2 35 6-M24x135 180 6 1125 605 245 11 -12 5 25 38 64 M190x3 206 73 180 NT-212 304 110 220 30 17145 23 6-M16x110 91 6 61.3 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130
N-224 610 147 520 60 463.6 35 6-M24x150 205 6 1319 87.5 245 16 -10 5 25 38 64 M215x3 230 73 180 NT-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16 5 22 43 62 MI130x2 139 66 165
N-232 800 150 520 60 463.6 35 6-M24x150 230 6 162 1535 245 16 -18 5 25 38 64 M250x3 262 73 180 NT-218 450 133 300 43 235 30 6-M20x135 1175 6 82 79.75 1525 7 -16 5 22 43 62 M130x2 139 66 165



Siro

BSfi1 : mm
NIT-206 @45 12 55 2243 5812 285 4500  13.7 0.058 M1246 HJ06 HCO06 @15-3169
NIT-208 @52 16 7.4 3558 9075 26.5 3600 24 0.177 M1552 HJ08 HC08 @20-3210
NIT-210 a75 19 8.8 4385 11319 275 3200 36 0.324 M1875 HJ10 HC10 @25-@254
NIT-212 291 23 10.6 5812 14990 27.5 2700 585 0.763 M2091 HJ12 HC12 @30-3304
NIT-215 @117.5 23 10.6 7240 18355 23.5 1900 114 2.331 M2511S HJ15 HC15 @50-3381
NIT-218 @117.5 23 10.6 7240 18355 235 1500 140 3.798 M2511S HJ15 HC15 @50-@450
NIT-224 @205 26 12 9177 23861 26.5 1000 284 15.2 ML3320 HJ24-1 HC24-1 @150-2610

R <

NIT-206
NIT-208
NIT-210
NIT-212
NIT-215
NIT-218
NIT-224

169
210
254
304
381
450
610

AUTO

nG

[

81
91
100
110
133
133
147

e ]

140
170
220
220
300
300
520

A STRONGHOLD BY PRECISION AND POWER.

NIT-200

MMRz=HEREE (FFEZER)

4-jaw through-hole power chuck
(adapter excluded)

- REBFASHSEAME - FIABRIHEREEL LR E
R MESE8RRENTEA M

104.78
133.35
171.45
171.45
235
235
463.6

16  4-M10x80 45
20 4-M12x90 52
22 4-M16x100 75
23 4-M16x110 91
30 4-M20x135 117.5
30 4-M20x135 117.5
35 8-M24x150 205

o o o o g o g

-8 Seralon Pich 1 &
|:"\IIT M4 Prch 30

32 2275
38.7 29.75
51.4 33.75
61.3 45.75

82  45.25

82  79.75

1319 875

9.25
11.75
14.25
15.75
15.25
15.25

24.5

T v |
Riomolb

11
145
8.5
8
7
7
16

-1
=il

-10.5

=l
-16
-16

12

16
21
22
22
25

a g a N N NN

19 31
205 35
25 40
28 50
43 62
43 62
38 64

M55x2

M60x2

M85x2
M100x2
M130x2
M130x2
M215x3

60 37 73

66 38 95

94 43 110
108 51 130
139 66 165
139 66 165
230 73 180

NHT-200
SIS MR HERE (SEER)

2-jow and 3-jaw through-hole power chuck
(adapter included)

1. Al ER R RA 2 TH¥eRs - TRRKEE -

2. REEHASHREEMME - MEBIESREECNAEEE -
RigE @@ EE R A -

3. 7% : FADIN 55026 X F{E%E -

& Senabom Pk A

o)
: -
o
i '
"
BEfiI : mm
NHT-208A5 @52 16 7.4 2192/ 1590 5608 / 3997 17.3/13.3 3500 26.2  M1552 HJO6 HC08-1 @20-3210
NHT-208A6 @52 16 7.4 2192 /1590 5608 / 3997 17.3/13.3 3500 25 M1552 HJO6 HCO08-1 @20-@210

B

R~
NHT-208A5 210 113 170 20 23 82.563 133.35104.78 14 6xM12 52 5 41.8 34 7.5 375 215 2 12 20.5 35 M60x2 6xM10 66 38 73 Fig-2
NHT-208A6 210 107 170 20 17 106.375 150 133.35 17 6xM12 52 5 41.8 34 7.5 315 155 2 12 20.5 35 M60x2 3xM6 66 38 73 Fig-1



AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

NB-200A
=MBAPEHERE (S EER)

3-jaw extra large through-hole power chuck
(adapter included)

1. BAREENE  MEBREDP - ARAZEFHE -

15"« NB-30e~-NB-212
30" ME-E15-NE-218

it @ Serrabon Phich 1.5
. T ;
v L

2. RYBIEIRE20% © lb—HE5eEE - EEH20%2HE > RFNR :
BEELERT - ; ' J-L\
3. REFAERASENE  FEBDECRERLRFERE W
I\ $R S B R R M - S
4. 28 FFADIN 55026 X &% - |
L 4 ol o= S
EmnEE Sla Bl :

g i

e
R 1
NB-306A5 170 91 140 20 15 82.563 116 104.78 145 6-M10 52 5 37 18.25 9.25 26 14
NB-306A6 170 111 140 20 35 106.375 104.78 133.35 16 6-M10 52 5 37 18.25 9.25 46 34
NB-208A6 210 103 170 25 17 106.375 150 133.35 195 6-M12 66 5 457 2375 1175 315 155
NB-210A8 256 113 220 30 18 139.719 190 171.45 24 6-M16 78 5 53 33.75 1425 265 7.5
NB-310A8 254 113 220 30 18 139.719 190 171.45 24 6-M16 81 5 54 3225 1425 265 7.5
NB-212A8 315 145 300 30 33 139.719 235 171.45 24 6-M20 122 6 795 3375 11.25 53 30
NB-212A11 315 134 300 30 22 196.869 260 235 28 6-M20 122 6 795 3375 1125 42 19
NB-215A15 405 154 380 43 27 285775 330.2 330.2 33 6-M24 142 6 935 4525 1525 34 11
NB-218A15 457 154 380 43 27 285775 3302 330.2 33 6-M24 166.5 6 102 63.25  18.25 34 11
EB{iI : mm
NB-306A5 @52 12 5.4 2243 5812 18.4 6000 14 0.06 M1552 HJO6 HCO06 @20-@170 NB-306A5 2 12 20 31 M60x2 3-M6 65 37 73 16 36 65 M8x15 63 Fig-1
NB-306A6 @52 12 5.4 2243 5812 18.4 6000 15.6 0.087 M1552 HJ06 HCO06 @220-@170 NB-306A6 2 12 20 31 M60x2 6-M12 65 37 73 16 36 65 M8x15 63 Fig-3
NB-208A6 266 16 7.4 3558 9075 22.0 5000 24 0.14 M1768 HJ08 HCO08 @26-@210 NB-208A6 2 14 20 35 *M75x2 3-M6 80 38 95 16 45 80 M8x15 78 Fig-1
NB-210A8 @78 19 8.8 4385 11319 27.5 4200 37.4 0.4 M1878 HJ10 HC10 ?36-8256 NB-210A8 2 16 25 40 M87x2 3-M8 94 43 110 16 60 102 M10x20 91 Fig-1
NB-310A8 @81 19 8.8 4976 12848 315 4500 36.4 0.33 MK1881 HJ10 HC10 D37-B254 NB-310A8 2 16 25 40 M90x2 3-M8 97 43 110 16 60 102 M10x20 91 Fig-1
NB-212A8 @122 23 10.6 5812 14990 20.5 3200 72.2 1.04 M2511S HJ12 HC12 259-@315 NB-212A8 2 21 28 50 M135x2 6-M16 143 51 130 20 60 138 M10x10 123 Fig-2
NB-212A11 @122 23 10.6 5812 14990 20.5 3200 65 0.95 M2511S HJ12 HC12 ?59-@315 NB-212A11 2 21 28 50 M135x2 3-M10 143 51 130 20 60 138 M10x10 123 Fig-1
NB-215A15 @142 23 10.6 7240 18355 25.5 2500 130 3.0 ML2816 HJ15 HC15 260-8405 NB-215A15 5 22 43 62 M155x2 3-M12 164 66 165 20 80 160 M12x22 145 Fig-1
NB-218A15 @166.5 23 10.6 7240 18355 255 2000 161 4.77 ML2816 HJ15 HC15 D78-BA57 NB-218A15 5 22 43 62 M180x3 3-M12 189 66 165 20 100 160 M12x22 145 Fig-1

*{EHETTM7 4x2



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

Vv
=M EHERE (RS EER)

3-jaw wedge type non through-hole
power chuck (adapter excluded)

1. AL« EANRFIREE— R 2B AL -

2. RREER IR 44 ¢ 1IN B4 I B SE IR 44 LA 5 SR BB E 8 o

VT&VIT
= MR MM P EEESEEE (R &)

2-jaw and 4-jow wedge type non
through-hole power chuck (adapter excluded)

1 EABHEAA : BRRS TIGERARE ZEAERIE - MRS
T~ SO -

2. AEVELVARSIE I -

: 3. BARTREEVAIHE -

: f 4. BMEAERVELSEE -

-
ERRE ERTR
s Seration Pikch 1.5 firg Serraton Pech 1.5
. ot il : . ’ y T =
o -t S S - - - - W o
i B
b |
- a— .
. i j
] * I
=i
E 1
. I
] !
“
" = 30k
15 iy 206210
EB{i1 : mm E5{I : mm
sl 5 B3
R R B
V-205 15 6.4 836 2570 22.4 5500 6.3 0.015 MH80 HJO5 HCO05 ?6-0135 VT-206 2 20 9.2 1224 3569 17.3 5200 12.3 0.045 MS105C HJO6 HCO06 ?18-@165
V-206 20 9.2 1835 5353 26.5 5200 12.7 0.048 MS105C HJO06 HC06 ?18-@165 VT-208 2 21 9.7 1683 5098 16.3 4500 23.1 0.13 MS125C HJO08 HCO08 @26-0210
V-208 21 9.7 2549 7648 25.5 4500 23.8 0.137 MS125C HJO08 HCO08 226-0210 VT-210 2 25 8.8 1988 7342 19.4 4000 351 0.29 MS125C HJ10 HC10 ?26-0254
V-210 25 8.8 2957 11013 28.6 4000 36.4 0.3 MS125C HJ10 HC10 @26-0254 VT-212 2 30 10.5 2804 10605 18.4 3300 60.3 0.7 MS150C HJ12-1 HC12-1 @26-0304
V-212 30 10.5 4181 15907 27.5 3300 62.3 0.78 MS150C HJ12-1 HC12-1 @26-0304 VIT-212 4 30 10.5 4181 15907 275 2800 64.3 0.77 MS150C HJ12-1 HC12-1 B26-0304
V-215 85| 16 8362 25391 32.6 3000 106 1.94 MS200C HJ15-1 HC15-1 268-0381 VT-215 2 35 16 5557 16927 21.7 3000 102.6 1.89 MS200C HJ15-1 HC15-1 268-@381
V-218 35 16 8362 25391 32.6 2700 122 3.09 MS200C HJ15-1 HC15-1 @98-2450 VIT-218 4 35 16 8362 25391 32.6 2300 127 3.21 MS200C HJ15-1 HC15-1 @98-3450

2R BR
R~ R~

V-205 135 55 80 14 100 14 3-M860 — 7 305 16.75 6.25 9 6 3 10 35 25 M12x1.75 28 32 62 VT-206 165 74 140 20 104.78 14 4-M10x70 21 5 387 1525 7.75 1046 846 4 12 36 31 Mi16x2.0 34 39 73
V-206 165 74 140 20 104.78 14 6-M10x70 21 5 38.7 1525 7.75 1046 846 4 12 36 31 M16x2.0 34 39 73 VT-208 210 85 170 25 13335 20 6-M12x85 25 5 46.75 2225 875 132 111 5 14 36 35 M20x25 38 41 95
V-208 210 85 170 25 13335 20 6-M12x85 25 5 46.75 2225 875 132 111 5 14 36 35 M20x25 38 41 95 VT-210 254 89 220 30 17145 18 6-M16x85 34 5 511 30.75 9.75 158 133 5 16 36 40 M20x2.5 45 46 110
V-210 254 89 220 30 17145 18 6-M16x85 34 5 511 30.75 9.75 158 133 5 16 36 40 M20x2.5 45 46 110 VT-212 304 106 220 30 171.45 23 6-M16x105 34 6 61 4875 9.75 163 133 5 18 36 50 M20x25 50 54 130
V-212 304 106 220 30 17145 23 6-M16x105 34 6 61 4875 9.75 163 133 5 18 36 50 M20x25 50 54 130 VIT-212 304 106 220 30 171.45 23 4-M16x105 34 6 61 4875 9.75 163 133 5 18 36 50 M20x25 50 54 130
V-215 381 114 300 43 235 29 6-M20x115 — 6 775 4975 2125 104 69 2 255 55 62 M30x3.5 60 63 165 VT-215 381 114 300 43 235 29 6-M20x115 — 6 775 49.75 2125 104 69 2 255 55 62 M30x3.5 60 63 165
V-218 450 114 300 43 235 29 6-M20x115 — 6 108 49.75 2125 92 57 2 255 55 62 M30x3.5 60 63 165 VIT-218 450 114 300 43 235 29 4-M20x115 — 6 108 49.75 21.25 92 57 2 255 55 62 M30x3.5 60 63 165



OSSO TSI
e
e
s s @
"'0'.:"200203""’ = —
e
AUTO =
M
strona A STRONGHOLD BY PRECISION AND POWER.
f— =rhErdxo A i3z
=M EHENRE (FEER)
- 3-jaw wedge type non through-hole
- power chuck (adapter included)

- EEEL S G T ERAASASIDINLA S AL 23 8 - . 4 #i Barralion Pich 0.5

—— L o] i 15 =% R=-- 218
W = AT IR

AL mm 847 ¢+ mm
V-206A4 20 9.2 1835 5353 26.5 5200 14.5 0.062 MS105C HJ06 HCO06 @18-@165 V-206A4 165 89 140 20 20 63.513 104.78 8255 16 6-M10 21 5 38.7 1525 7.75 84.6 64.6 4 12 36 31 M16x2.0 6-M10 34 39 73 Fig2
V-206A5 20 9.2 1835 5353 26.5 5200 13.9 0.056 MS105C HJ06 HCO06 @18-@165 V-206A5 165 84 140 20 15 82563 116 104.78 14 6-M10 21 5 38.7 1525 7.75 89.6 69.6 4 12 36 31 M16x2.0 3-M6 34 39 73 Figl
V-206A6 20 9.2 1835 5353 26.5 5200 15.8 0.059 MS105C HJO6 HCO06 @18-@165 V-206A6 165 104 140 20 35 106.375 104.78 133.35 16 6-M10 21 5 38.7 1525 7.75 69.6 49.6 4 12 36 31 M16x2.0 6-M12 34 39 73 Fig3
V-208A5 21 9.7 2549 7648 25.5 4500 26.8 0.154 MS125C HJO8 HCO08 @26-33210 V-208A5 210 103 170 25 23 82.563 133.35 104.78 14 6-M12 25 5 46.75 22.25 875 109 88 5 14 36 35 M20x2.5 6-M10 38 41 95 Fig2
V-208A6 21 9.7 2549 7648 25.5 4500 25.6 0.147 MS125C HJO8 HCO08 @26-3210 V-208A6 210 97 170 25 17 106.375 150 133.35 18 6-M12 25 5 46.75 22.25 875 115 94 5 14 36 35 M20x2.5 3-M6 38 41 95 Figl
V-208A8 21 9.7 2549 7648 25.5 4500 30 0.172 MS125C HJO08 HCO08 @26-03210 V-208A8 210 120 170 25 40 139.719 133.35 171.45 24 6-M12 25 5 46.75 2225 875 92 71 5 14 36 35 M20x2.5 6-M16 38 41 95 Fig3
V-210A6 25 8.8 2957 11013 28.6 4000 41.8 0.35 MS125C HJ10 HC10 @26-B254 V-210A6 254 109 220 30 25 106.375 171.45 133.35 18 6-M16 34 5 51.1 30.75 9.75 133 108 5 16 36 40 M20x2.5 6-M12 45 46 110 Fig2
V-210A8 25 8.8 2957 11013 28.6 4000 39.6 0.33 MS125C HJ10 HC10 @26-D254 V-210A8 254 102 220 30 18 139.719 190 171.45 25 6-M16 34 5 51.1 30.75 9.75 140 115 5 16 36 40 M20x2.5 3-M8 45 46 110 Figl
V-210A11 25 8.8 2957 11013 28.6 4000 50 0.417 MS125C HJ10 HC10 D26-D254 V-210A11 254 134 220 30 50 196.869 17145 235 28 6-M16 34 5 51.1 30.75 9.75 108 83 5 16 36 40 M20x2.5 6-M20 45 46 110 Fig3
V-212A6 30 10.5 4181 15907 27.5 3300 67.6 0.76 MS150C HJ12-1 HC12-1 @26-0304 V-212A6 304 125 220 30 25 106.375 171.45 133.35 18 6-M16 34 6 61 4875 9.75 138 108 5 18 36 50 M20x2.5 6-M12 50 54 130 FigZ
V-212A8 30 10.5 4181 15907 275 3300 65.5 0.75 MS150C HJ12-1 HC12-1 @26-3304 V-212A8 304 118 220 30 18 139.719 190 171.45 25 6-M16 34 6 61 4875 9.75 145 115 5 18 36 50 M20x2.5 3-M8 50 54 130 Figl
V-212A11 30 10.5 4181 15907 27.5 3300 75.9 0.888 MS150C HJ12-1 HC12-1 @26-0304 V-212A11 304 150 220 30 50 196.869 17145 235 28 6-M16 34 6 61 48.75 9.75 113 83 5 18 36 50 M20x2.5 6-M20 50 54 130 Fig3
V-215A8 35 16 8362 25391 32.6 3000 119 2.12 MS200C HJ15-1 HC15-1 @68-@3381 V-215A8 381 141 300 43 33 139.719 235 17145 24 6-M20 — 6 775 49.75 2125 71 36 2 255 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-215A11 35 16 8362 25391 32.6 3000 113 2.05 MS200C HJ15-1 HC15-1 @68-0381 V-215A11 381 130 300 43 22 196.869 260 235 32 6-M20 — 6 77.5 49.75 21.25 82 47 2 255 55 62 M30x3.5 3-M10 60 63 165 Figl
V-215A15 35 16 8362 25391 32.6 3000 132 2.56 MS200C HJ15-1 HC15-1 @68-03381 V-215A15 381 165 300 43 57 285.775 235 330.2 29 6-M20 — 6 775 49.75 21.25 47 12 2 255 55 62 M30x3.5 6-M24 60 63 165 Fig3
V-218A8 35 16 8362 25391 32.6 2700 136 3.28 MS200C HJ15-1 HC15-1 @98-B450 V-218A8 450 141 300 43 33 139.719 235 171.45 24 6-M20 — 6 108 49.75 21.25 59 24 2 255 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-218A11 35 16 8362 25391 32.6 2700 129 3.20 MS200C HJ15-1 HC15-1 @98-3450 V-218A11 450 130 300 43 22 196.869 260 235 32 6-M20 — 6 108 49.75 21.25 70 35 2 255 55 62 M30x3.5 3-M10 60 63 165 Figl
V-218A15 35 16 8362 25391 32.6 2700 148 3.71 MS200C HJ15-1 HC15-1 @98-3450 V-218A15 450 165 300 43 57 285.775 235 330.2 29 6-M20 — 6 108 49.75 21.25 35 0 2 255 55 62 M30x3.5 6-M24 60 63 165 Fig3



Siro

AUTO

nG

A STRONGHOLD BY PRECISION AND POWER.

V(40"-79")
AR EHEREERRS (FSEER)

Large wedge type non through-hole

ERTEE
Ll
o A | |
i |
I B
(L =
F | I":__ [ |'_'
w i ~R ®
ki wm
B B
= o _l] ]
uln J" -
s u t L.,.J | Lt
i i
LN 1 ™ 1H ! 1 L
B Sl sy HAD-T g g HE-1
BT : mm
40" V-240 3 630 645 82
VIT-240 4 57 23 + (30) 180 320 428 550 700 89 MS250C  HJ40-1 HC40-1 @285-@1005
VE-240 6 450 700 89
50" V-250 3 500 890 168
VIT-250 4 57 23 +(30) 180 320 42.8 400 940 177 MS250C HJ40-1 HC40-1 @270-@1250
VE-250 6 360 971 183
63" V-263 3 400 1800 548
VIT-263 4 60 24 + (40) 200 360 46.9 300 1700 518 MS250C HJ40-1 HC40-1 @390-@1600
VE-263 6 280 1800 548
79" VE-279 6 60 24 + (40) 200 360 46.9 230 2850 1350 MS250C HJ40-1 HC40-1 @440-@2000

R 3

40" V-240
VIT-240
VE-240

50" V-250
VIT-250
VE-250

63"V-263
VIT-263
VE-263

79" VE-279

1005

1250

1600

2000

180

180

220

238

520

520

720

720

502

623

796

996

463.6

463.6

647.6

647.6

108

108

144

159

power chuck (adapter excluded)

VERREAEIMN  ATSIMEZRS -
RERIEEBER @ MEKBHERE - BERIELER -

N —

3. AEEHERBREMNTRIE  aRBARFRAUITH -

M24 M52x1.5

M24 M52x1.5

M30 M52x1.5

M30  M52x1.5

457

563

738

914

4

4

6

6

7-M24

10-M24

13-M24

17-M24

19

19

22

22

110

110

A7 T\ EE 7 AT H B ER R 5
Vertical and vertical horizontal stationary

power chuck

1 EARIZR ~ SEIEETE -
2. VAR PEHEBEREEFERAE  IMRIHXRE - EH
AIEANIN T ITAE -

1115

[a—

. L=

.. EB‘E @7 3
i - N |
* B = ]
] { oL : '| 5 |
| S B A | ol
DV Fig-1 DN Fig-2
B : mm
DV-6 @115 104 /78.5 1900 / 1400 20 20 12 V-206
DV-8 @155 187/ 148.6 3600 / 2800 21 20 21 V-208, V-210, V-212
DN-8 @155 148.6 / 148.6 2800 / 2800 17 20 28.5 N-208

B
R~
DV-6 @220 168 140 55 @200 49 16 655 55 104.78 12-M10x15L 38 45 18 -2 PT1/4" 7.6 2-@15 M16xP2.0 Fig-1

DV-8 290 210 170 70 242 58 24 86 55 13335 12-M12x16L 23 65 20 -1 PT1/4" 55 2-16 M16xP2.0 Fig-1
DN-8 293 213 170 70 242 52 24 100 55 133.35 12-M12x18L 325 745 304 134 PT1/4" 16 4-17 M60xP2.0 Fig-2



AUTO

SironGg . ::ouc.oo

BY PRECISION AND POWER.

VRA
STEE P EHERGE (&)

Non through-hole power chuck for
vertical lathe (adapter included)
1. REEEEREEMEHELE -

2. WRARIIXERRER -

B =
R

V-212RA6 3 30 16 5302 14276
V-212RA8 3 30 16 5302 14276
V-212RA11 3 30 16 5302 14276
V-215RA8 3 35 187 9585 25798
V-215RA11 3 35 187 9585 25798
V-215RA15 3 35 187 9585 25798
V-218RA8 3 35 187 9585 25798
V-218RA11 3 35 187 9585 25798
V-218RA15 3 35 187 9585 25798
V-22IRA8 3 35 16 9075 28450
V-221RA11 3 35 16 9075 28450
V-221RA15 3 35 16 9075 28450
V-224RA8 3 35 16 9075 28450
V-224RA11 3 35 16 9075 28450
V-224RA15 3 35 16 9075 28450
V-232RA11(41) 3 35 187 9585 25798
V-232RA15 3 35 187 9585 25798
V-232RA20 3 35 187 9585 25798
VIT-212RA8 4 30 16 5302 14276
VIT-218RA11 4 35 187 9585 25798
VIT-224RA11 4 35 16 9075 28450
VIT-224RA15 4 35 16 9075 28450
VIT-232RA11 4 35 187 9585 25798
VIT-232RA15 4 35 187 9585 25798

35.7 3000 67.7 0.774 MS150C HJ12-1 HC12-1
35.7 3000 65.6 0.764 MS150C HJ12-1 HC12-1
35.7 3000 74.1 0.902 MS150C HJ12-1 HC12-1
35.7 2800 120.4 2.146 MS200C HJ15-1 HC15-1
35.7 2800 113.4 2.016 MS200C HJ15-1 HC15-1
35.7 2800 133 2.572 MS200C HJ15-1 HC15-1
35.7 2300 144.5 3.507 MS200C HJ15-1 HC15-1
35.7 2300 137.5 3.43 MS200C HJ15-1 HC15-1
35.7 2300 157.5 3.945 MS200C HJ15-1 HC15-1
33.7 1940 198 6.46 MS200C HJ24-1 HC24-1
33.7 1940 190 6.35 MS200C HJ24-1 HC24-1
33.7 1940 184 6.28 MS200C HJ24-1 HC24-1
33.7 1760 240 10.54 MS200C HJ24-1 HC24-1
33.7 1760 233 10.44 MS200C HJ24-1 HC24-1
33.7 1760 227 10.36 MS200C HJ24-1 HC24-1
35.7 1060 399 31.6 MS200C HJ24-1 HC32-1
35.7 1060 383 30.82 MS200C HJ24-1 HC32-1
35.7 1060 419 32.69 MS200C HJ24-1 HC32-1
35.7 2500 68 0.792 MS150C HJ12-1 HC12-1
35.7 2000 141.5 3.522 MS200C HJ15-1 HC15-1
33.7 1520 255 11.3 MS200C HJ24-1 HC24-1
33.7 1520 240 11.02 MS200C HJ24-1 HC24-1
35.7 920 414 32.68 MS200C HJ24-1 HC32-1
35.7 920 399 32.4 MS200C HJ24-1 HC32-1

B{i1 : mm

@32-@304
@32-@304
@32-@304
268-@381
268-0381
268-@381
@78-@450
@78-@450
@78-@450
265-@530
@65-@530
265-@530
@152-3610
@152-@610
2152-@610
©100-2810
©100-2810
2100-2810
D45-3304
@78-@450
2152-2610
2152-3610
©100-2810
©100-2810

B
R

V-212RA6
V-212RA8
V-212RA11
V-215RA8
V-215RA11
V-215RA15
V-218RA8
V-218RA11
V-218RA15
V-221RA8
V-221RA11
V-221RA15
V-224RA8
V-224RA11
V-224RA15

w2 12R-Y- 28R Hemalon
N-FEEH Somalon

W 2E 1A~

o]
@

<ot

T8 = F 1= HR

-2 2T

304 125 220 30 25 106.375171.45 133.35
304 118 220 30 18 139.719 190 171.45
304 150 220 30 50 196.869 171.45 235
381 141 300 43 33 139.719 235 171.45
381 130 300 43 22 196.869 260 235
381 165 300 43 57 285.775 235
450 141 300 43 33 139.719 235 171.45
450 130 300 43 22 196.869 260 235
450 165 300 43 57 285.775 235
530 154 380 60 33 139.719 330.2 171.45
530 148 380 60 27 196.869 330.2 235
530 148 380 60 27 285.775 330.2 330.2
610 154 380 60 33 139.719 330.2 171.45
610 148 380 60 27 196.869 330.2 235
610 148 380 60 27 285.775 330.2 330.2

330.2

330.2

V-232RA11(41) 810 170 380 80 41 196.869 330.2 235

V-232RA15

V-232RA20

VIT-212RA8
VIT-218RA11
VIT-224RA11
VIT-224RA15
VIT-232RA11
VIT-232RA15

810 156 380 80 27 285.775 330.2 330.2
810 187 520 80 58 412.775 330.2 463.6
304 118 220 30 18 139.719 190 171.45
450 130 300 43 22 196.869 260 235
610 162 380 60 41 196.869 330.2 235
610 148 380 60 27 285.775 330.2 330.2
810 170 380 80 41 196.869 330.2 235
810 156 380 80 27 285.775 330.2 330.2

18 6-M16 6 64 45.7512.751381085.5 18 36
24 6-M16 6 64 4575 127514511555 18 36
28 6-M16 6 64 45751275113 83 55 18 36
24 6-M20 6 78 49.7524.25 71 36 5525555
32 6-M20 6 78 49.7524.25 82 47 5525555
29 6-M20 6 78 49.7524.25 47 12 5525555
24 6-M20 6 92 70.7524.25 59 24 5525555
32 6-M20 6 92 70.7524.25 70 35 5.525.555
29 6-M20 6 92 70.752425 35 0 5525555
24 6-M24 6 87 935 275 64 29 9 25 55
30 6-M24 6 87 935 275 70 35 9 25 55
336-M246 87 935 275 70 35 9 25 55
24 6-M24 6 1265 935 275 64 29 9 25 55
30 6-M24 6 126.5 935 275 70 35 9 25 55
33 6-M24 6 1265 935 275 70 35 9 25 55
30 6-M24 6 104.8196.5 255 47 12 5 25 56
33 6-M24 6 104.8196.5 255 47 12 5 25 55
35 6-M24 6 104.8196.5 255 16 -19 5 25 55
24 4-M16 6 64 45.7512.7514511555 18 36
32 4-M20 6 92 70.7524.25 70 35 5.525.555
30 8-M24 6 1265 935 275 70 35 9 25 56
33 8-M24 6 1265 935 275 70 35 9 25 55
30 8-M24 6 104.8196.5 255 47 12 5 25 56
33 8-M24 6 104.8196.5 255 47 12 5 25 55

50 M20x2.5 6-M12 50 545130 — —
50 M20x2.5 3-M8 50 545130 — —
50 M20x2.5 6-M20 50 545130 — —
62 M30x3.5 6-M16 60 66.5 165 — —
62 M30x3.5 3-M10 60 66.5 165 — —
62 M30x3.5 6-M24 60 66.5 165 — —
62 M30x3.5 6-M16 60 66.5 165 158 22
62 M30x3.5 3-M10 60 66.5 165 158 22
62 M30x3.5 6-M24 60 66.5 165 158 22
64 M30x3.5 9-M16 60 77 180 155 22
64 M30x3.5 6-M20 60 77 180 155 22
64 M30x3.5 3-M12 60 77 180 155 22
64 M30x3.5 9-M16 60 77 180 165.122
64 M30x3.5 6-M20 60 77 180 165.1 22
64 M30x3.5 3-M12 60 77 180 165.122
74 M30x3.5 6-M20 60 93 210 165.1 22
74 M30x3.5 3-M12 60 93 210 165.122
74 M30x3.5 6-M24 60 93 210 165.1 22
50 M20x2.5 4-M8 50 545130 — —
62 M30x3.5 4-M10 60 66.5 165 158 22
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 4-M12 60 77 180 165.1 22
74 M30x3.5 6-M20 60 93 210 200 22
74 M30x3.5 4-M12 60 93 210 200 22

B : mm

Fig2
Figl
Fig3
Fig2
Figl
Fig3
Fig2
Figl
Fig3
Fig2
Fig2
Figl
Fig2
Fig2
Figl
Fig2
Figl
Fig3
Figl
Figl
Fig2
Figl
Fig2
Figl



OSSO OIS
IS IS
RS e e
e e e
e
S
s_.__‘ AUTO
IronG A STRONGHOLD BY PRECISION AND POWER.
V-300RA
- = rh [EF = P X7
VEHAPERERE (SEZER)
Non through-hole power chuck for
vertical lathe (adapter included)
1 ERARIXEARER -
2. BrilI B R B TEE ARG K AR AT -
Y212 -V.31ER Sanalon Fich 15 T

ftodad T = TS Terralae Prich 080
T

el

EEn

o

Iy

"

d
|

15 =1 A=- - A WT 32 1R—
W= AT TR IR ; WiT-335R
FAL mm 8847+ mm
Bt B

omBEY S W E T R R B OE
V-312RA8 3 30 16 5302 14276 35.7 3000 71 0.773 MS150C HJ12-1 HC12-1 @32-3304 V-312RA8 304 138 220 30 38 139.719 190 171.45 24 6-M16 6 64 4575 12.751451155.5 18 36 50 M20x2.5 3-M8 50 545130 — — Figl
V-315RA8 3 35 18.7 9585 25798 35.7 2800 131 2.24 MS200C HJ15-1 HC15-1 @68-0381 V-315RA8 381 160 300 43 52 139.719 235 171.45 24 6-M20 6 78 49.75 2425 82 47 5525555 62 M30x3.5 6-M16 60 66.5 165 — — Fig2
V-315RA11 3 35 18.7 9585 25798 35.7 2800 128 2.23 MS200C HJ15-1 HC15-1 ?68-7381 V-315RA11 381 160 300 43 52 196.869 260 235 32 6-M20 6 78 49.7524.25 82 47 5525555 62 M30x3.5 3-M10 60 66.5 165 — — Figl
V-315RA15 3 35 18.7 9585 25798 35.7 2800 140 2.64 MS200C HJ15-1 HC15-1 ?68-0381 V-315RA15 381 165 300 43 57 285.775 235 330.2 29 6-M20 6 78 49.75 2425 77 42 5525555 62 M30x3.5 6-M24 60 66.5 165 — — Fig3
V-318RAS8 3 35 18.7 9585 25798 35.7 2300 157 3.68 MS200C HJ15-1 HC15-1 @78-B450 V-318RA8 450 160 300 43 52 138.719 235 171.45 24 6-M20 6 92 70.75 24.25 82 47 5525555 62 M30x3.5 6-M16 60 66.5 165 158 22 FigZ
V-318RA11 3 35 18.7 9585 25798 35.7 2300 155 3.66 MS200C HJ15-1 HC15-1 @78-B450 V-318RA11 450 160 300 43 52 196.869 260 235 32 6-M20 6 92 70.7524.25 82 47 5525555 62 M30x3.5 3-M10 60 66.5 165 158 22 Figl
V-318RA15 3 35 18.7 9585 25798 35.7 2300 167 4.07 MS200C HJ15-1 HC15-1 @78-B450 V-318RA15 450 165 300 43 57 285.775 235 330.2 29 6-M20 6 92 70.7524.25 77 42 5525555 62 M30x3.5 6-M24 60 66.5 165 158 22 Fig3
V-321RA11 3 35 16 9075 28450 33.7 1940 212 6.73 MS200C HJ24-1 HC24-1 @65-3530 V-321RA11 530 173 380 60 52 196.869 330.2 235 30 6-M24 6 87 935 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 155 22 FigZ
V-321RA15 3 35 16 9075 28450 33.7 1940 210 6.75 MS200C HJ24-1 HC24-1 @65-@3530 V-321RA15 530 178 380 60 57 285.775 330.2 330.2 33 6-M24 6 87 935 275 77 42 9 25 55 64 M30x3.5 3-M12 60 77 180 155 22 Figl
V-324RA11 3 35 16 9075 28450 33.7 1760 257 10.83 MS200C HJ24-1 HC24-1 @152-3610 V-324RA11 610 173 380 60 52 196.869 330.2 235 30 6-M24 6 126.5 935 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 165.1 22 Fig2
V-324RA15 3 35 16 9075 28450 33.7 1760 255 10.85 MS200C HJ24-1 HC24-1 @152-3610 V-324RA15 610 178 380 60 57 285.775 330.2 330.2 33 6-M24 6 126.5 935 275 77 42 9 25 55 64 M30x3.5 3-M12 60 77 180 165.122 Figl
V-332RA11 3 35 18.7 9585 25798 35.7 1060 399 30.17 MS200C HJ24-1 HC32-1 ?100-2810 V-332RA11 810 181 380 80 52 196.869 330.2 235 30 6-M24 6 104.8196.5 255 82 47 5 25 55 74 M30x3.5 6-M20 60 93 210 165.1 22 Fig2
V-332RA15 3 35 18.7 9585 25798 35.7 1060 397 30.19 MS200C HJ24-1 HC32-1 @100-@810 V-332RA15 810 186 380 80 57 285.775 330.2 330.2 33 6-M24 6 104.8196.5 255 77 42 5 25 55 74 M30x3.5 3-M12 60 93 210 165.122 Figl
VIT-312RA8 4 30 16 5302 14276 35.7 2500 78 0.78 MS150C HJ12-1 HC12-1 @45-0304 VIT-312RA8 304 138 220 30 38 139.719 190 171.45 24 4-M16 6 64 4575 12.751451155.5 18 36 50 M20x2.5 4-M8 50 545130 — — Figl
VIT-318RA11 4 35 18.7 9585 25798 35.7 2000 158 3.74 MS200C HJ15-1 HC15-1 @78-B450 VIT-318RA11 450 160 300 43 52 196.869 260 235 32 4-M20 6 92 70.7524.25 82 47 5525555 62 M30x3.5 4-M10 60 66.5 165 158 22 Figl
VIT-324RA11 4 35 16 9075 28450 33.7 1520 268 11.47 MS200C HJ24-1 HC24-1 @152-3610 VIT-324RA11 610 173 380 60 52 196.869 330.2 235 30 8-M24 6 126.5 935 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 165.1 22 Fig2
VIT-324RA15 4 35 16 9075 28450 33.7 1520 267 11.49 MS200C HJ24-1 HC24-1 @152-3610 VIT-324RA15 610 178 380 60 57 285.775 330.2 330.2 33 8-M24 6 126.5 935 275 77 42 9 25 55 64 M30x3.5 4-M12 60 77 180 165.122 Figl
VIT-332RA11 4 35 18.7 9585 25798 35.7 920 427 32.85 MS200C HJ24-1 HC32-1 ?100-2810 VIT-332RA11 810 181 380 80 52 196.869 330.2 235 30 8-M24 6 104.8196.5 255 82 47 5 25 55 74 M30x3.5 6-M20 60 93 210 200 22 Fig2
VIT-332RA15 4 35 18.7 9585 25798 35.7 920 425 32.87 MS200C HJ24-1 HC32-1 @100-@810 VIT-332RA15 810 186 380 80 57 285.775 330.2 330.2 33 8-M24 6 104.8196.5 255 77 42 5 25 55 74 M30x3.5 4-M12 60 93 210 200 22 Figl



- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

SR
Collet chuck for cylindrical center mount

1. e EET] IREFEIEAEESE - BANC/CNCEERM T -
2. BMEEEHREEE A IETTERMER -
3. MR TR ERTRERESER -

EEYFE
Collet chuck for short taper mount

1. e REETRESFEIEHEES - FEAKNC/CNCEE RN TAE41 -
2. BV EERE I BRERB AL IE T IERMESR -
3. MR TR BRI RIEZZFBESHIEK -

— F' -
F _n o
L]
L kY Carspang posibon 1
ERnEHE . s, [ ERTEE
Ll L_:"'Eﬁl:l_.r"‘ |
— | =H ) & ~
- i i { e [ B : _
"3 ‘ i F lampenag poogdEn I____
= E AR e & | . EE P el
| ; ,.._::" T
| ! = | T
A o SR i . . i .
A (mm IL::[T—'_I.-_-' i 17 N
| y -| j !
' | - Spring Collet - - Multi-Bore Collet -

B{i1 : mm |

b5 Bfi1 : mm

CR42-140 140 42 7 25(2549) 55(5608) 6000 6.2 B RiFEE
R CHUCK
CR52-170 170 52 7 30(3059) 65(6628) 5000 125
R26A4  A2-4 26 5 20(2039) 44(4486) 7000 45 NO. CatNo./O/O/O CatNo. /O/O /DO
CR60-170 170 60 7 30(3059) 65(6628) 5000 115 CR26 (2039) 44(3486)
CR30A4  A24 30 5 20(2039) 44(4486) 7000 41 CR26  M-667 /26/22/18 161E/8744/26/22/ 18
CR60-220 220 60 7 30(3059) 65(6628) 5000 155 (2039)  44(4486)
A2-5 42 7 25(2549) 55(5608) 6000 6.2 CR30  M-669 /30/26/21 163E/4249/30/26/21
CR80-220 220 80 7 35(3568) 73(7443) 4000 195 CRA2AS (2549) 55(5608)
CR42A6  A26 42 7 25(2549) 55(5608) 6000 8.2 CR42  M-673 /42/36/30 173E/4728/42/36/30
e RS —
R~ CR60A6  A26 60 7 30(3059) 65(6628) 5000 13 CR60  M-677 /60 /52 /42 185E/4291/ 60/ 52/ 42
CR42-140 155 114 100 23 10478 140  M66xP1.5 60  M55xP20 25 18 6 119  3M10 3.1 CR65A8  A26 &7 7 30(3050) 65(6628) 5000 106 CR65 . _/_ SAD65 /67/58/47
CRS2:170 185 138 130 30 13335 170 MOOxP1ls 667 MEOxp2.0° 30 a8 6178 eMi2 T3 CRB0AS A28 80 7 35(3568) 73(7443) 4000 21 CR80  J-660 /80/69/56 193E/H-47 /80 /69 /56
CR60-170 185 139 130 30 13335 170  M9OXPL5 79.6 M74xP20 25 18 6 179  6M12 3.1
CR80-220 235 167 156 32 17145 220  ML14xP20 99  M9OxP20 275 20 6 234  6M16 6.1 R <
CR26A4 112 1035 85 30 8255 63.513 M50xP15 45  M4OXPL5 15 22  3M10 23
CR30A4 112 1035 85 30 8255 63.513 MSOXPL5 45  MA4OXPL5 15 22  3M10 23
%ﬁﬁ _ EEAIE CR42A5 135 127 100 27 10478  82.563 M66xP1.5 60  M55xP2.0 25 309 4M1I0 3.1
CR42A6 170 127 100 32 13335  106.375 M66xPL5 66  M6OxP2.0 22 309  4M12 31
NO. Cat.No./ O /0O /0O Cat.No. /O/0 /0O ' :
; = CR52A6 170 144 130 27 13335  106.375 MOOXPL5 667  M6OXP2.0 30 209  4M12 31
CR42  M-673 /42/36/30 173E/4728/42/36/30
CR60A6 170 145 130 27 13335  106.375 MOOXPL5 796  M74xP2.0 25 209  4M12 31
CR52 — J—/—/—  177E /52/45/36
CR65A6 170 135 136 27 13335  106.375 MO5xP15 81  M75xP2.0 20 209  4-M12 31
CR60  M-677 /60/52/42 185E/4291/60/52 /42
CR80A8 220 170 156 35 17145  139.719  M114xP2.0 99  M9OXP2.0 275 324  6M16 6.1
CR80 J-660 /80/69/56 193E/H-47/80/69 /56

- Spring Collet - - Multi-Bore Collet -



- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

=

= & 22 W 88 R ]

High speed through-hole rotary
hydraulic cylinder

1. /WEUERE : LLEEEANHEE - BIRANE(MAX 95mm
548 - BBE(MAX 4.5kgifEE L) - BEEERHERE
EET « EREEIRNaE -

2. BAMEET : kB FNRBHAEIRE20%MWE
BT I ERRIRE DT A HER -

3. ZE1BE L ORI ARIRISH#EDIEE -

BE{i7 : mm

samen
R~

MO926A 9 108 25 8-M5x10 6-M8x15 110 76 58 44 15 30 53 4 4-M4x7 5 PT1/4" 6 116 M34x15 32 15
MO0928A 9 108 25 8-M5x10 6-M8x15 110 76 58 44 15 34 53 4 4-M4x7 5 PT1U4" 6 116 M34x15 32 15
M1036 11 1205 25 6-M5x10 6-M10x17 126 88 68 53 15 38 64 4 6-M5x12 5 PT3/8" 6 136 M44x1l5 42 14
M1038 11 1205 25 6-M5x10 6-M10x17 126 88 68 53 15 40 64 4 6-M5x12 5 PT3/8" 6 136 M44x1l5 42 14
M1236 11 1265 25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4-M5x12 6 PT1/2" 6 169 M52x1.5 50 14
M1246 11 1265 30 6-M6x12 12-M10x20 135 98 76 47 15 50 76 4 4-M5x12 6 PT1/2" 6 169 M52x1.5 50 14
M1546 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 50 85 4 4-M6x12 7 PT1/2" 6 188 M58x1.5 56 13.5
M1552 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 55 85 4 4-M6x12 7 PT1/2" 6 188 M58x1.5 56 13.5
M1768 17.5 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 70 108 4 4-Méx12 7.5 PT1/2" 6 215 M84x2 81 125
M1870 175 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 75 108 4 4-M6x12 7.5 PT1/2" 6 215 M84x2 81 125
M1875 175 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 80 108 4 4-M6x12 7.5 PT1/2" 6 215 M84x2 81 125
M1878 175 1525 35 6-M6x12 12-M10x20 166 155 101 47 20 82 108 4 4-M6x12 7.5 PT1/2" 6 215 M84x2 81 125
M2078 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 20 84 120 4 4-M6x12 7 PT12" 6 240 M99x2 96 20
M2085 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 20 89 120 4 4-M6x12 7 PT1/2" 6 240 M99x2 96 13
M2091 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 15 95 120 4 4-M6x12 7 PT1/2" 6 240 M99x2 96 13
B : mm M2511S 21 1695 45 6-M6x12 12-M16x32 192 206 132 55 20 123 160 5 4-M6x12 7 PT1/2" 6 294 — 1346 —

B
R A8
B
M0926A 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0(40.8) 8000 0.006 5.7 3.0 R ~t

MO0928A 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0(40.8) 8000 0.006 515/ 3.0 MO0926A 120 100 80 65 44 M34x15 26 25 63 44 59 76 90 105 151 14 4 35 25 3 5
M1036 105 71/68.5 26(2651) / 25(2549) 15 4.0(40.8) 8000 0.011 8.6 3.0 MO0928A 120 100 80 65 44 M38x15 28 25 63 44 59 76 90 105 151 14 4 35025 & 5
M1038 105 71166 26(2651) / 24.5(2498) 15 4.0(40.8) 8000 0.011 8.5 3.0 M1036 136 115 100 65 48 M42x1.5 36 32 71 55 73 838 104 115 1745 15 0 39 24 25 5
M1236 125 100/ 89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.019 13 3.0 M1038 136 115 100 65 50 M44x15 38 32 71 55 73 88 104 115 1745 15 0 39 24 25 5
M1246 125 100/ 89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.019 12 3.0 M1236 155 130 100 80 65 M42x1.5 36 36 76 64 8 98 118 114 179 15 0 40 25 5
M1546 155 161/154 60(6118) / 57.8(5894) 22 4.0(40.8) 6200 0.056 18 3.9 M1246 155 130 100 80 65 M55x2 46 36 76 64 85 98 118 114 179 15 0 40 25 5
M1552 155 161 /150 60(6118) / 56(5710) 22 4.0(40.8) 6200 0.052 16.8 819 M1546 190 170 130 85 65 M55x2 46 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
M1768 175 1847183 69.3(7067) / 69(7036) 25 4.0(40.8) 4700 0.096 27.5 4.2 M1552 190 170 130 85 70 Me0x2 52 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
M1870 180 198 /183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 26.5 4.2 M1768 215 190 160 120 85 M75x2 68 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M1875 180 198/183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 26 4.2 M1870 215 190 160 120 95 M782 70 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M1878 180 198 /183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 255 4.2 M1875 215 190 160 120 95 M85x2 75 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M2078 205 262/234 98(9993) / 88(8973) 23 4.0(40.8) 3800 0.15 36.5 4.5 M1878 215 190 160 120 95 M87x2 78 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M2085 205 252 /234 94(9585) / 88(8973) 30 4.0(40.8) 3800 0.15 37.5 45 M2078 240 215 180 140 110 M90x2 78 36 104 108 138 158 182 177 248 23 0 55 32 3 5
M2091 205 252 /234 94(9585) / 88(8973) 30 4.0(40.8) 3800 0.15 37 4.5 M2085 240 215 180 140 110 M93x2 85 36 104 108 138 158 182 177 248 30 0 B 25 & 5

M2511S 250 348 /336 124(12644) / 120(12236) 23 4.0(40.8) 2800 0.41 53 7.0 M2091 240 215 180 140 110 M100x2 91 36 104 108 138 158 182 177 248 30 0 55 25 3 5

M2511S 310 275 230 166 140 M130x2 1175 36 101 148 178 190 232 215 258 24 1 38 A5 3 6



Siron

o 5
# 18

MK1246
MK1246F
MK1452
MK1452F
MK1768
MK1775
MK1778
MK1881

AUTO

128
128
145
145
170
170
170
180

G@ A STRONGHOLD

BY PRECISION AND POWER.

MK
2 A o 22 B B A R

Super high speed through-hole compact
rotary hydraulic cylinder

1ZVBEEE - REWHE30%  SERBRNMEERE - REXH
HEaH -

2. RE1BE - AKTE LR - BAREREER - BHiAIRE -

3R RREUHESGURMEH -

102.6/91.4 43.6(4466) / 38.9(3967) 16 4.5(45.9) 8000 0.017 8.6
102.6/91.4 43.6(4466) / 38.9(3967) 16 4.5(45.9) 8000 0.018 9.2
133/122.6 56.5(5761) / 52.1(5313) 22 4.5(45.9) 6500 0.028 12
133/122.6 56.5(5761) / 52.1(5313) 22 4.5(45.9) 6500 0.029 12.5
166 / 152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.065 19.4
166 / 152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.060 17.8
166 / 152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.059 17.4

187 /171.9 79.5(8107) / 73.1(7454) 25 4.5(45.9) 4800 0.087 24

BE{T7 : mm

3.1
3.1
3.9
E19
4.5
4.5
4.5
4.5

<=

20
@01
2C
PU

@M1 |(H8)
=
R
2

G

1

@ sall P11/ | K1

033

B8] : mm

R 1

MK1246 85 795 25 M6x10 12-M10x20 84 98 76 47 15 50 76
MK1246F 85 895 30 M6x10 6-M10x20 94 98 76 47 15 50 76
MK1452 9 88 30 M6x12 12-M10x20 93 110 86 47 15 55 85
MK1452F 9 95 30 M6x12 6-M10x20 100 110 86 47 15 55 85
MK1768 175 99 30 M6x12 12-M10x20 110 155 100 47 15 70 108
MK1775 175 99 30 M6x12 12-M10x20 110 155 100 47 15 80 108
MK1778 175 99 30 M6x12 12-M10x20 110 155 100 47 15 82 108
MK1881 17 106 35 M6x12 12-M10x20 115 166 105 47 15 85 113

R <

M5x6

©

PT3/8 12 165 M52x1.5 50 15 M8
M5x6 PT3/8 8 165 M52x1.5 50 15 M8
Méx6 16 PT3/8 12 184 M58x1.5 56 12 M8
M6x6 16 PT3/8 8 184 M58x15 56 15 M8

M6x10 7 PT1/2 12 216 M84x2.0 81 18 MI10

M6x10 7 PT1/2 12 216 M84x2.0 81 18 M10

M6x10 7 PT1/2 12 216 M84x2.0 81 18 MI10

M6x10 16.5 PT1/2 12 226 M89x2.0 86 19 M10

©

A B DD D Db

MK1246 162 147 147 130 75 65  M55x2.0 46 40 58 64 85 116 120 120 13 -3 44 28 8
MK1246F 162 130 147 100 75 65  M55x2.0 46 40 68 64 85 116 120 130 14 £ 44 28 5)
MK1452 184 165 165 140 80 70  M60x2.0 52 40 66 73 96 135 130 130 19 -3 535 315 8
MK1452F 186 170 165 130 80 70  M60x2.0 52 40 73 73 96 135 130 137 21 =l 535 315 5
MK1768 212 195 195 160 105 95 M75x2.0 68 46 71 98 121 164 160 157 22 -3 50 25 8
MK1775 212 195 195 160 105 95 M85x2.0 75 46 71 98 121 164 160 157 22 -3 50 25 8
MK1778 212 195 195 160 105 95 M87x2.0 78 46 71 98 121 164 160 157 22 -3 50 25 8
MK1881 222 205 205 168 110 100 M90x2.0 81 46 71 103 126 175 175 167 23 £2 58 33 8



AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

8 B o 7= 300 85 h [BR T
Compact high speed through-hole

rotary hydraulic cylinder

1WEIEE - RIEMEIE30% > SRRERNMEERE  REXHNEEH -
2. REEE - ABREFE LIRS - BRETEER - BHIEMRE
3. BRI A - RIGFMMERRE - BRTREELERE

R1 Al B1 Y1 6-71
2.5 B 7

S £ s :W_|
< & ) <
mnézgg,isg Al DM folulsglol s
&an}ég . B L. = = SIS T SRS
T 1S S}
val i _U"gfl'
HT'/ NS
H
w1
6-E1
L y4
PN /II - Gl
n
% ) PT1 K1
@33
E8i7 : mm
MA1453 145 133.8/123.5 56.8(5792) / 52.4(5343) 20 4.5(45.9) 6500 0.032 12 3.9

B
R
MA1453 183 165 140 80 70 M60x2.0 53 36 645 73 96 135 130 134 19 -1 47 27 8

BR
R =t
MA1453 8 96 30 M6x12 96 110 78 47 15 55 85 M6x7 11 PT3/8 10 183 M58x1.5 56 14 M8x70

==

ML-CM.B
AT

Extra large through-hole rotary hydraulic
cylinder

1. BARAHEMERRERE=EA -

2. ERABKREEGEME  BESENRFRHIEMES -
3. A IR RIE DRSS -

4. BARBEILRET - BEREKERTERANKE -

5. EMAIZRA KRR KR -

)

i

B : mm
ML2814CM28B 285 394/ 350 116.8(11910) / 106.8(10584) 42 3.3(33.6) 2000 1.08 87 9
ML2816CM28B 285 394/ 350 116.8(11910) / 106.8(10584) 42 3.3(33.6) 2000 0.90 72 9
ML3320CM33B 335 515.7/416.9 152.9(15591) / 136.9(13960) 42 3.3(33.6) 1600 1.09 103 10

B
R~
ML2814CM28B 335 280 240 190 M158x3.0 145 140 382 260 279 41 -1 67 25 18 202 M16x32L 150

ML2816CM28B 335 280 240 190 M180x3.0 166.5 140 382 260 279 41 =il 67 25 18 202 Mi16x32L 170
ML3320CM33B 390 320 280 230 M215x3.0 205 147 392 260 292 41 -1 67 25 18 210 M20x32L 210



AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

MM
B AR R P 2R A T

High speed and compact through-hole
rotary hydraulic cylinder

1. BEH > BIERE NEEHaE  SERSHNAETET -
2. REWEAMIT RIS > REZVHERENIARS -

CM.B
e TIE DS

Hydraulic cylinder coolant collector

1. TRRITEBEREERHKEIYL
2. EEFABASE -

-w - LI - \l
| Bi L {5
P Fig-1 Fig-2
i
T r r
& A 11 J]]_ il
5 ;' = | Ci ]
F H
f.':ll B I " ]
_lgllj_a"' /—1- .
| 5
x - [THI 1 | I et Gl R R )
< | UL n
|
PT am” ] t
s o L
(MAT775H PTiE) [
|
I It
' - 1 as /4 2
- F |
i
" 1 :'_|. 1 I !I l
¥ 154 [
o = - -
T .~ ]
BB : mm (" i
& 3
R B
MMO0933B 90 50.3/47 19.1(1947) / 17.8(1815) 10 4.0(40.8) 8000 0.012 5.9 0.8 EE{17 : mm
MM1036B 100 64 /60 23.8(2427) / 22.3(2274) 4.0(40.8) 8000 0.013 0.8 % Ej't
MM1036B15 100 64/ 60 23.8(2427) 1 22.3(2274) 15 4.0(40.8) 8000 0.014 7.4 0.8 ) MO926A. MO928A
CM09B 825 30 35 715 106 555 77 43 5 475 175 30 67 90 105 PT3/4" 76 44 4-M4 Fig2 MMO09338 MM10368 0-85
MM1246B 125 100/ 89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.027 11.8 3.0 . !
CM10B1 825 40 35 715 106 555 77 52 5 475 175 30 75 — 105 PT3/4" 88 44 6-M5 Figl M1036, M1038 1.0
MM1552B 155 161/ 150 60(6118) / 56(5710) 22 4.0(40.8) 6200 0.046 16 3.0 ) M1236. M1246
CM12B 1175 48 42 855 142 74 107 61 5 605 175 30 87 — 130 PT1" 98 47 4-M5 Figl MK1246 MM12468 16
MM1775B 170 169/ 154.5 63.5(6475) / 58(5914) 25 4.0(40.8) 4200 0.081 22 4.5 . M1546. M1552
CM15B8 1175 55 42 855 142 74 107 67 5 605 175 30 98 — 130 PT1" 110 47 4-M6 Figl MK1452 MM15528 1.6
" " M1768, M1875,
7 3 CM18B 155 80 425 865 184 94 147 92 5 585 175 30 123 — 150 PT1" 155 47 4-M6é Figl MK1775, MM17758 2.0
R ~t CM18BK 155 80 425 86.5 184 94 147 97 5 605 195 30 126 175 150 PT1" 166 47 4-M6 Fig2 MK1881 2.0
MMO0933B 120 100 80 46 M40x1.533 59 90 48 152 10 0O 30 20 58 25 6-M8x15 1215 76 46 25 10 36 M4x9L M39xP1.5 5 37 CM20B 155 95 425 865 184 94 147 106 5 605 175 30 140 — 150 PT1" 165 47 4-M6 Figl MZOKASZ‘OI\S/;%OBS’ 21
MM1036B 134 115 100 48 M42x1.5 36 52 90 48 144 10 5 17 12 57 20 6-M10x15 1135 76 46 25 10 38 M4x9L M42xP15 2 40 CM25B 200 120 44 895 230 117 192 — 12 60 21 27 179 — 180 PT1" 206 47 4-M6 Figl M2511S 2.4
MM1036B15 134 115 100 48 M42x1.5 36 66 90 48 158 15 0 30 15 57 25 6-M10x15 1275 76 46 25 15 38 M4x9L M42xP1.5 3 40 CM28B 254 170 52 103 285 147 240 182 8 745 20.5 20 222.6 278 260 PT 1-1/4" 256 85 4-M6 Fig2 ML2814, ML2816 4.2
MM1246B 155 130 100 65 M55x2.0 46 76 117 61 179 15 0 40 25 59.5 30 12-M10x20 140 98 59 25 15 50 Mb5x6L M52xP1.5 9 50 CM33B 300 208 52 101.5 330 — 285 222 8 745 20.5 20 262.6 328 259 PT 1-1/4" 308 70 4-M6 Figz ML3320 7.2
MM1552B 190 170 130 70 M60x2.0 52 84 135 68 189 22 0 47 25 62.5 30 12-M10x20 150 110 68 25 15 55 M6x6L M58xP1.5 9 56
MM1775B 212 190 160 95 M85x2.0 75 95 164 82,5208 25 0 50 25 64 35 12-M10x20 163.5 155 82.5 31 15 80 M6x10L M84xP2.0 9 81



Siro

AUTO

nG

A STRONGHOLD BY PRECISION AND POWER.

MS

BEEHET (SFLER)

Non through-hole rotary hydraulic
cylinder (valve included)

- BELERE -

-r
Eﬁ| I-;n
AF

TE hT

2003
7

BE{T : mm

MS105
MS125
MS150
MS200

105
125
150
200

86/79
1227113
176 /160
314 /290

32(3263) / 29(2957)
46(4691) / 42(4283)
66(6730) / 60(6118)

117(11930) / 108(11013) 35

4.0(40.8)
4.0(40.8)
4.0(40.8)
4.0(40.8)

6000
6000
5500
5500

0.0125
0.0225
0.0475
0.0975

0.8
0.8
0.8
0.8

R~

MS105
MS125
MS150
MS200

135
160
190
245

100 80

130 110
130 110
145 120

21 M20x2.5
25 M24x3.0
31 M30x3.5
37 M36x4.0

35 197
44 205
45 214
60 228

108 89
108 97
108 106
108 122

152
160
169
183

6-M10x20

6-M12x24
12-M12x24
12-M16x30

158
166
175
189

S SLISTC OS>
TSCESIITECIIISSSISS
"“““"“"‘
00‘ 0.0000. SIS IS oS SO
,}z‘:;.g:::,:z:z.:.o--:.&
PO S
oo

MS-C

& 1055 B ]
(B ~ WAKE)

Non through-hole rotary hydraulic cylinder
(valve and switch brackets included)

1. Mt LERY -
2. BHERERE -
3. EMAASE -

W P
L 1] 5

" M -
H
i 2-FTaE" J
=il |
. I

-1 '5'

5 o ™
et fel EEERE
g : =

B ]
ali el
'l‘ - -
PTi4 | E
A I O

B8fi7 : mm

MS105C
MS125C
MS125C35
MS150C
MS200C

105
125
125
150
200

84/79
120/113
120/113
174 /160
3127290

31 (3161) / 29 (2957) 20
45 (4589) | 42 (4283) 25
45 (4589) | 42 (4283) 35
65 (6628) / 60 (6118) 30

117 (11930) / 108 (11013) 35

4.0(40.8)
4.0(40.8)
4.0(40.8)
4.0(40.8)
4.0(40.8)

6000
6000
6000
5500
5500

0.0125
0.022
0.022
0.047
0.097

7.6
10.5
10.5

22.5

0.8
0.8
0.8
0.8
0.8

R~

MS105C
MS125C
MS125C35
MS150C
MS200C

135
160
160
190
245

100
130
130
130
145

80
110
110
110
120

- RITSHEN : SBETI4.0MPa (40.8 kgficm?)
- f87E - BB /I3.0MPa (30.6 kgflcm?) R E50°C
- SEHERIRS - FRIEBESS 16-329-E4-Y (BALLUFF) DC 12/24V 200mA NPN

M20x2.5
M24x3.0
M24x3.0
M30x3.5
M36x4.0

35 257
44 265
44 269
45 274
60 288

168
168
168
168
166

89
97
101
106
122

152
160
164
169
183

6-M10x20
6-M12x24
6-M12x24
12-M12x24
12-M16x30

158
166
170
175
189



AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

MS250C/MS300C
SEEHEL (FTLLM - BAEE)
Non through-hole rotary hydraulic cylinder

(valve and switch brackets included)

1. EFBEAUMBEEEEBUFIRG - RAIREFESE -
2. TJERIm R IR
3. fRZFEILRARBHRECLERBESR) -

BS{i1 : mm

MS250C 250 481.5/453.6 227(23147) [ 214(21822) 60 4.9(50) 2000 0.85 73 2
MS300C 300 697.5/658.6 262(26716) / 247(25186) 60 4.0(40.8) 1500 1.60 106 3

B
R~
MS250C 300 275 220 160 65 62 44 M42x3.0 60 349 260 170 213 85 25  6-@17 6-M20x30 219 153
MS300C 355 330 270 210 75 70 50 M48x3.0 70 359 270 182 223 85 25 12-0017 12-M20x30 229 165

R E e RS B IE i H B T

Short type non through hole
rotary hydraulic cylinder

1. SEESERET  BARIAER -

2. AKEIERRTRBMEB(IEHEMERE) -
3. REMTTEREBIHMA -

M P
T Z
T | |
- o = LR 1
st =,
o
J
. . _Ht Fi " Nolul &8 slolgl
\ é[ 518888
1 = 1
= S
.E;_ = | 1
. 02
L
IE]
L
BT : mm
MR10530 105 81/755 34(3467) / 31.7(3232) 30 4.5(45.9) 6000 0.015 6.8 0.8
MR12535 125 117/107.5 49(4996) / 45(4588) &5 4.5(45.9) 6000 0.028 9.5 0.8
MR15035 150 171.1/156.7 72(7342) / 66(6730) 35 4.5(45.9) 5500 0.043 12.8 0.8
MR20060 200 310/ 286 146(14887) / 134(13664) 60 4.9(50) 5500 0.55 49 2
MR25060 250 481.5/ 453.6 227(23147) 1 214(21822) 60 4.9(50) 2000 0.81 72 2

B
R
MR10530 143 143 125 100 80 30 21 M20x25 35 167 87 PT3/8" PT1/4" 50 20 6-@9 6-M10 155 78

MR12535 169 171 150 130 110 35 25 M24x3.0 44 174 94 PT3/8" PT1/4" 57 22 6-911 6-M12 162 82
MR15035 202 204 180 130 110 45 31 M30x35 45 175 95 PT3/8" PT1/4" 61 26 6-013 12-M12 163 82
MR20060 250 255 225 145 120 55 37 M36x40 60 270 156 PT1/2" PT1/2" 85 25 6-917 6-M16 255 140
MR25060 300 305 275 220 160 65 44 M42x3.0 60 280 168 PT1/2" PT1/2" 85 25 6-@17 6-M20 265 150

o o g g O



AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

MRA
ch BB AT B 610 8 R R T

Short type non through-hole rotary hydraulic
cylinder with central bore for air

1. BEESRET BARIAER
2. PIBf3 IR R AT 2 AR AN 2R
3. RO HEZHEA
4. TINEERINGE
EmnEE

MR A M

for proximity swilch T

MRA - P

tor linear poaibaning
k)

S

i 7 8 PR
Alr precssurs L A
Wax, 0, BEMPaBRglanrd) L

BE{T7 : mm

MRA12535 125 116 /107.5 48.5(4945) / 45(4588) 35 4.5(45.9) 6000 0.028 9.3 0.8
MRA15035 150 170.2/156.7 71.6(7301) / 66(6730) 35 4.5(45.9) 5500 0.043 12.8 0.8

B 5
R ¥

MRA12535 169 171 150 130 110 35 25 M24x3.0 44 177 94 PT3/8" PTU4" 57 22  6-@11 6-M12 165 82 5
MRA15035 202 204 180 130 110 45 31 M30x3.5 45 178 95 PT3/8” PT1/4” 61 26 6-@13 12-M12 166 82 5

SIS oS S S c;lx

PEEENEERERI (EHEEKRE)

Short type non through-hole rotary hydraulic
cylinder (for rotary union)

. BEER(RE > BRARINER

. AT R R AT AR

. REFTTHEREA

BB EEEEADOIEK  ER

A W N —

BS{i1 : mm

MRR12535 125 113/107.5 47.3(4823) | 45(4588) 35 4.5(45.9) 6000 0.027 9.8 0.8
MRR15035 150 168.7 / 156.7 71(7240) / 66(6730) 35 4.5(45.9) 5500 0.055 13.5 0.8

R

MRR12535 169 171 150 130 110 35 25 M24x3.0 44 229 164 94 124 57 22 6-g11 6-M12 130 82 50 15 5
MRR15035 202 204 180 130 110 45 31 M30x3.5 45 230 165 95 125 61 26 6-g13 6-M12 131 82 50 B 5



Sirong

AUTO

MH-F
BB 8 AT

Non through-hole rotary hydraulic cylinder

1

A STRONGHOLD BY PRECISION AND POWER.

Et TTLUREE BT A -

AR SNz 239 TR -

% URARILHBIIZSE®

ERnaE
1% SRS L
Frr MH-F myps ‘H.q\.-... = E I
Loy
___'_'_,_4-_\—\_4—
M
=._. :
P - = E; : - R 0~ ¢ |
\ { AT Ea
e L
. Y SRS —
- A | ek
iy e b
Rl REEANE
. r 4 i = al —
luju | 4 - ( {;
PT 14" /] W L 1
T T T o
O Part o i H
A n Je| P Ak
2PT 3 e
Fressuro Porl K J &3
B{i7 : mm
B R
AR B
MHS80 80 4771428 15.5(1580) / 13.9(1417) 15 3.5(35.7) 6000 0.005 5.1 0.4
MH100F 100 75.4/70.5 24.5(2498) / 22.9(2335) 20 3.5(35.7) 5500 0.013 6.7 0.4
MH125F 125 121.1/114 39.3(4007) / 37(3773) 25 3.5(35.7) 5500 0.021 8.6 0.4
MH150F 150 176/ 160 66(6730) / 60(6118) 30 4.0(40.8) 4000 0.049 10.8 0.8

R

MH80
MH100F
MH125F
MH150F

112
135
160
190

9 — 65 25
100 115 80 25
130 140 110 30
130 170 110 45

6
6
6
6

735
88.5
95.5
107

103
103
103
103

6-M8x16 .
6-M10x19 6-M8x90
6-M12x20 6-M8x100

12-M12x20  8-M10x110

12
13
16

M16x2.0x32
M16x2.0x32
M20x2.5x32
M30x3.5x40

45 155
45 155
45 155
45 155

30.5
30.5
30.5
30.5

135
155
135
135

CEE - BIEM - B WHEBAARESSREMMN - RERL

CRRER  IWHBC FERFAR/ERNRER REEEET

EE%  HRERECHBIIARRESREIREEREENT

87 : mm
2l
=B
HB4-160 50 39.2 29
BSfi1 : mm
24
R
HB4-189 50 39.2 31
81 : mm
all 5
=B
HB4-2P 50 39.2 31 HE2486

HB4

sHNEM

Boring mill jaw

1 ERRERER « IXERK - RaRET(EMAERE -

2. A —#EMTEIERAR -

~§E Ly,

v




Siro

AUTO

nG

A STRONGHOLD BY PRECISION AND POWER.

mt
En
>
it
]

5
|

Biermlan

H)
S T

Hard jaw for hydraulic power chuck

1. HMESREEREM -
2. CNCERFBREM -

LRS-

1414

Sarnlion

BSfi1 : mm

HJO5 53 23 275 10 4
HJ06 67 31 35 12 5
HJO08 86 35 51 14 5
HJ10 995 40 54 16 5
HJ12 103 50 52 21 4
HJ12-1 103 50 52 18 5
HJ15 149 62 86 22 8
HJ15-1 149 62 86 255 5
HJ24-1 1595 80 90 25 9
PB600 140 60 75 255 6
PB850 220 75 85 30 6.5

30.5
39.5
31
43
62.5
62.5
63
63
104.5
50.35
130

14
20
25
30
30
30
43
43
50
38
62

225 135
275 17
18 19
17 19
405 25
405 22
34 32
34 32
55 32
49.86 31
90 38

8.5
11
13
13
17
15
21
21
21
21
26

10 M8 6 15x60°  Fig-2 N-204,N-205,V-205 0.4
12 M10 11 15x60°  Fig-2 N-206, NL-06,V-206 1.0
12 M12 12 15x60°  Fig-l N-208 NL-08,V-208 1.9
13 M12 15 15x60°  Fig-l N-210,NL-10,V-210 2.9
17 M6 30 15x60°  Fig-2 N-212 35
17 M14 30 15x60°  Fig-2 V-212 3.6
20 M20 40 15x60°  Fig-l  N-215,N-218 9.6
20 M20 40 15x60°  Figl  V-215,V-218 9.5
40 M20 55 30x60°  Fig2 \ 550 54 \a3s  14.3
19 M20 211 3/32'x90°  Fig-1 PB-ES600 7.2
30 M25 35 3/32'x90°  Fig-2 PB-ES850 202

SESLECICISISISISIS
RSSO
e
e
=== e
MAOREM
Soft jaw for strong scroll chuck
1. =M AREM -
2. FETRIRIGRR AT BUE -
ERTEE
£
C-4 C-5 C-2
b i | 1 |
i i ]
% | |
Il'I:I .3 i 1 ]
i | | = o
i i - t I
o A N [\ d |
_ N— .
. |- o 5
LSt R | LG8 R L
o6 [ -
BE{i7 : mm

SKC04 52 19 30 24 14 11 21 M6 953 794 25 3.5 SK-4 0.45
SKCO06 73 26 37 38.1 17.45 14 9 25 M8 12.68 7.94 3 35 SK-6, KD-6" 15
SKCO07 95 31 48 4445 25275 17 11 34 M10 12.68 7.94 3 3.5 SK-7, SK-8, KD-8", KA-8" 2.7
SKCO09 110 37 48 54 28 19 ig 34 M12 19.03 127 3 3.5  SK-9, SK-10, KD-10", KA-10" 3.7
SKC12 125 40 54 63.5 30.75 19 13 38 M12 19.03 127 3 35 SK-12, KD-12", KA-12" 4.9
SKC16 160 50 70 76.2 41.9 25 17 48 M16 19.03 127 6 6 SK-16 11
HE2486 155 59 86 76.2 52.9 32 21 66 M20 19.03 127 6 4 HB4-2P 19.2(4PC)



Siro

AUTO

nG

A STRONGHOLD

BY PRECISION AND POWER.

HC
M B SR A T

Soft jaw for hydraulic power chuck

1. HESREEREM -
2. CNCERB4Y.M -

Emn=E
feit Seeratan
1 I
| Plch U % )
o Rt
[} |
o 'x'\’\_)
_ & i
W ia - T
oa__er o 2 ] S
! ! Birh AT el
o | 3
o . . L [
[ IR iy | .
.u o,
T | I'| | T
T i w M \LJ
wll G -y Y L
cz A fRlienEaon o L3035
BE{T : mm
B
R~
HCO04 52 23 23 10 5 10 14 28 14 9 13 M8 1.5x60° N-204 0.45
HCO05 62 25 30 10 5 10 14 38 14 9 20 M8 3  1.5x60° N-205, V-205 0.7
HCO06 73 31 3 12 5 15 20 38 17 11 24  M10 14 1.5x60°  N-206, NB-306, NL-06, V-206 15
HCO08 95 35 37 14 5 24 25 46 19 13 22 MI12 16 1.5x60°  N-208, NB-208, NL-08, V-208 2.4
o N-210, NB-210,NB-310,
HC10 110 40 42 16 5 30 30 50 19 13 27 M12 18 1.5x60 NL110. V210 3.7
HC12 130 50 50 21 5 40 30 60 25 17 30 M16 23  1.5x60° N-212, NB-212 6.5
HC15 165 62 62 22 8 37 43 85 32 21 37 M20 —  1.5x60° N-215, N-218, NB-215 NB-218 125
HC08-1 95 35 37 12 5 24 20 51 17 11 22 M10 16  1.5x60° NHT-208 2.4
HC12-1 130 5 50 18 5 40 30 60 23 15 30 M14 23  1.5x60° V-212, V-212R 6.6
HC15-1 165 62 62 255 6 37 43 85 32 21 37 M20 —  15x60° V-215,V-218, V-215R, V-218R 125
o N-220, N-224, V-221, V-224
HC24-1 180 64 70 25 9 40 60 80 32 21 45 M20 —  3.0x60 V2R v 59aR 15.8
HC32-1 210 74 90 25 9 40 80 90 32 21 65 M20 —  3.0x60° V-232R 29.2
HC15-2 156 64 70 26 9 34 50 72 32 21 45 M20 —  3.0x60° V-215(P3.0).V-218(P3.0) 13.4

ZSTISTHCIEISTITIS SIS IS SIS
e
O O B
e

BhiT\ SR A T

Soft jaw for draw down power chuck

B8] : mm
G
R
DR-06 70 35 34 10 6 43 — 10 23 15.5 21 M14 2.5 DR-06 1.5 Fig-1
DR-08 84 40 44.5 16 7 53 26 12 20 135 29 M12 3.5 DR-08 2.7 Fig-2
DR-10 100 50 49.5 18 7 62 32 15 23 15.5 32 M14 35 DR-10 4.6 Fig-2
DR-12 120 60 54.5 20 7 78 36 17 26 17.5 36 M16 &85 DR-12 755 Fig-2
(4]
- [} E B . -
- - : )
L - L
it |- Iy =
ca Lo R I S R
Eaee=] ool e | gl s
1 l_ .
[was] .3 — ~,
o ~ =73
BiEI\GEEERHEEM
Soft jaw for ball swing lock chuck
BE{i7 : mm
S
R
BL-12 108 70 70 57.1 3.3 19 44.45 25 17 59 M16 BL-12 10.6
o -
i
—
i - = = - .
i [
1 i L I
'?.'.I: _.a .._ [ =
V—3 =r¢ =
m]
REBINEFAREEZEHREM
Soft jaws for pneumatic power chuck
B : mm
S
R
PB600 205 60 60 25.5 6 25 38 104 32 21 44 M20 55 PB-ES600 135
PB850 320 80 80 30 7 35 60 165 38 26 53 M24 110.5 PB-ES850 40.2
it Sermatian
Lk
II
ja L I'
T ua _ ‘f-.. L




AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

HC40-1
AE P E SRR T

Soft jaw for hydraulic power chuck

ADAPTER
I

Mounting adapter on short taper
spindle noses DIN55026

EE£ Weight
17 kg / PC - EERNERRHEETHMBIETEDINGS026 -
BEfil : mm
R~
. EmTEHE N-205A4 A4 110 63513 8255 311 15 N-205
e = T NT-205A4 A4 110 63513 8255 411 15 NT-205
N-206A5 A5 140 82563 10478  6-11 15 N-206, NB-306, NL-06, V-206, DR-06
- NT-206A5 A5 140 82563 10478 611 15 NT-206, VT-206
ERTE [ ) 45 | E_ NIT-206A5 A5 140 82563 10478 411 15 NIT-206
- reaa | Ted - N-208A6 A6 170  106.375 13335  6-13 17 N-208, NB-208, NL-08, V-208, DR-08
! ¥ ¥ | lL:"'- . NT-208A6 A6 170  106.375 13335 613 17 NT-208, VT-208
- | | | A NIT-208A6 A6 170  106.375 13335  4-13 17 NIT-208
N ' | ; = NHT-208A6 A6 170 106375  133.35  6-13 17 NHT-208
L= | | | % N-210A8 A8 220 139719 17145 617 18 B R T
L -”"-'ﬂ*-lr_[:l LEI-‘ S— I " gy NT-210A8 A8 220  139.719 17145 6-17 18 NT-210, NT-212, VT-210, VT-212
o ., = R e = S0, i NIT-210A8 A8 220  139.719 17145  4-17 18 NIT-210, NIT-212, VIT-212, VIT-212R
= " _ N-215A11 A1l 300  196.869 235 621 22 N2 N s e ot™ V218
= NT-215A11 A1l 300  196.869 235 621 22 NT-215, VT-215, NT-218
NIT-215A11 A11 300  196.869 235 421 22 NIT-215, VIT-218, NIT-218
V-224A15  Al15 380 285775 3302 625 27 VP TR VIES oI < L

H J 4 0-1 VIT-224A15 A15 380 285775 3302 825 27 VIT-224R, VIT-232R
N-224A20 A20 520 412.775 463.6 6-26 25 N-224, N-232, V-240, V-250

IJ q: — ~E =i E VIT-240A20 A20 520 412.775 463.6 8-26 25 NIT-224, VIT-240, VIT-250
AREIpE HEEFTETET

TYPE2 BT : mm
EE Weight ) - . N-206A4 A4 140 63513 8255 11 10478 M10 20 N-206, NT-206, NIT-206, NL-06, V-206
112;(9 /e||>gc b 3: % i N-208A5 A5 170 82563 10478 11 133.35 Mi12 23 - NT_:ES%%E&’%{%%E%E;‘%%Z _—
oy — [ N-210A6 A6 220 106.375 133.35 13 17145 M16 25 v.31p,vT-210, v-212, VT-212, VIT-212, NB-210, NB-310
E N-215A8 A8 300 139.719 17145 17 235 M20 33 e
I fl 7 &85 N-220A11 A1l 380 196.869 235 21 3302 M24 41 N-220, VIT-232, NB-215, NB-218, VIT-224, V-232
§ : N N-224A11 A1l 520 196.869 235 21 4636 M24 45 N-224, N-232, V-240, V-250, NIT-224
;‘" - _@1 E=E N-224A15 Al5 520 285775 3302 25 4636 M24 42 VIT 230 T S00. N 924, Ve 250
L7 / | | i V-224A8 A8 380 139719 17145 17 3302 M24 33 V-221, V-224, N-220, NB-215
. 223 _ V-224A11 A1l 380 196869 235 21 3302 M24 27 V-221, V-224
s el (T - S— VE-263A20 A20 720 412775 463.6 27 6476 M30 50 VE-263, VE-279
g [Ti]1 °  HHEHE _E AL i
) 1] ] |
rl - 1 : o e R om R A ] i i R 1
: | ] : ! : . V-205A4 A4 80 63513 8255 11 100 6-M8 120 26.5 V-205
i T ! iﬁl i | deathiie .-”__:' N-205A5 A5 110 82563 104.78 11 8255 6-M10128 32 N-205, NT-205
e ]1—'L i ' P TTES B @ EE  N-206A6 A6 140 106375 13335 13 10478 M10 165 3 N-208, NT-200, D Rre206 00 V298
Vi 2943 1 h2a =l L] N-208A8 A8 170 139.719 171.45 17 133.35 M12 208 40 208 N5, WY 206, NTH 208 0
T A N-212A11 A1l 220 196.869 235 21 17145 M16 278 50 2 051 A0 T aa0 M N A M s A do -2
B - i | i N-215A15  A15 300 285.775 3302 25 235 M20 378 57 Ve e s 13

¥ - ' V-224A20 A20 380 412.775 463.6 26 330.2 M24 520 58 N-220, V-221R, V-224R, V-232R



AUTO

A
stronq A STRONGHOLD BY PRECISION AND POWER.

T-NUTS
TR 1R

Suitable for power chuck
- JE PR S B o

e i 2] 5€ B
High speed and light weight type strong

finger chuck for aluminum whee

1. F2Rl iR R RERASRESESNME - FRFEBIELREEL
RAEEE - LIZSEEE R -
2. MEHEEREWFEDIN, BS, ISO, ASA, B5-9, AR 7 X iiZ# -

- LF_ _E _F_ -~ B
I 4 B L A ~ -D B
D M . DA _ D
b - 4{ . ~-D :
[ {1 f !
I ‘ I I ‘ H‘ ! ol ! ““ |
——H = . | . | ol , &} i
D o e ik o el et ° g 2
“ '\ﬁ‘_ . H =™
- . n K J -..l |__ E
s o =
1 i
1
BE{i7 : mm
B
R~
N-205 26 14.5 15 10 14 6 55 M8 5 2 - = 1 N-204, N-205
N-206 36 175 185 12 20 8.2 75 M10 8 25 - = 1 N-206, NB-306, NL-06
N-208 465 205 205 14 25 105 85 M12 12 4 S 1 N-208, NB-208, NL-08
N-210 51 225 215 16 30 11 85 M12 11 3 - = 1 N-210, NB-210, NL-10
N-212 555 295 27.8 21 30 12 115 M16 13 45 [ — 1 N-212, NB212
N-215 80 335 455 24 43 17 165 M20 11 5 8 22 2 N-215, N-218
V-206 365 175 225 12 20 7.5 75 M10 6 3 - = 1 V-206, NHT-208
V-208 48 205 255 14 25 11 95 M12 8 4 = = 1 V-208
V-210 55 225 255 16 30 11 95 M12 8 4 S 1 V-210 AL mm
1
V-215 42 35 39.2 255 @ — — 19 M20  — 25 [ — 3 V-215, V-218
F52A8 12"-18" 521 A2-8 33.9(3456)  32.4(3303) 3.3(33.6) 2800(18"2200) 98 MS125C35
V-215 26 M20 42 35 41.2 26 — — 19 M20  — 25 - = 3 V-215P3.0
V-224 46 375 45 25 — — 19 M20 — 265 — @ — 3 N-220, N-224, V-221, V-224, V-232



AUTO
mna@ A STRONGHOLD BY PRECISION AND POWER.

e i | FE 5
High speed and light weight type strong

finger chuck for aluminum wheel

1.FO1 U R ER SRS ESNME - REBRIEELREEL
RREEE - RS EEE &AM -
2. FEEUEEBERELFTSDIN, BS, 1ISO, ASA, B5-9, ABY 7 FlfjiE# o

%

81 : mm

F61A8 13"-22" 610 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 145 MS125C35

.0. OO OS OGO SO O
,.",.‘,“‘ —
PTG AT AT ST I IS OSSO SOS S
O O >
oI
PO

i i Bl 5E BR
High speed and light weight type strong

finger chuck for aluminum wheel

1. FOORURIRE R ASHRESMME - FERIELKRAREILR
RERIE - NIEE0EE XA -
2. RS EIERENRADIN, BS, ISO, ASA, B5-9, ABYZ T Eh{Z#E -

B : mm

F66A8 19"-24" 660 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 182 MS125C35



AUTO
smna@ A STRONGHOLD BY PRECISION AND POWER.

NL-A
= METRhze R (SEER)

3-jaw long stroke through-hole power chuck
(adapter included)

RS DERBRTRE -

- REESENME  BIESECERLBERRE -
- BT A i R E AR T -
CREHAEDENRIIRE 1K - TEETR -

A W N =

M Sawralion Pilch 1.5

BE{T7 : mm

NL-06A5 240 15 24 2243 2651 28.5 3600 14.8 0.065 M1246 HJO6 HCO06 @35-7168
NL-08A6 248 20 32 3701 4190 27.5 3000 28 0.21 M1552 HJ08 HCO08 @50-3215
NL-10A8 266 25 37.5 4853 4486 29.5 2400 43.5 0.44 M1875 HJ10 HC10 @55-@256

B
R~
NL-O6A5 168 96 140 20 15 82.563 116 104.78 16 6-M10 40 5 49 16.75 7.75 26 11 2 12 19 31 M55x2 3xM6 60 37 73 10

NL-08A6 215 112 170 25 17 106.375 150 133.35 18 6-M12 48 5 60.5 20.7511.75 31.5 11.5 2 14 20.535 M60x2 3xM6 66 38 95 10
NL-10A8 256 125 220 30 18 139.719 190 171.45 24 6-M16 66 5 745 24.7511.25 265 15 2 16 25 40 M85x2 3xM8 94 43 110125

=BT KEE
3-jaw ball swing lock chuck

1. A5 AN TS s - MEE R3S - AR ENE - B mITE
BRI SCEERIEME RS £ - MR ERFFIRE -

2. TJRIMERFFEAENRE - ERBERETUREFNRIMERIGERA

3. I kFHEHEIM  FERUTERBERIFEGHEREMNENFRIEANRE
REHE - SNTYRFN0TERRNEN TNFE(EAT5FFE20°
W) ©

4. MEETI R ED) - METRKRE R BIERESD - MERESF(ER
BRATLES) -

5. AEBENMEY  AREREN—RKETFE  w#EEBLEBME
% BRIREHEE (lock arm) SR BHEE - AIPFLEEERA -

BS{i7 : mm

2.8(28.5) 2800 65 0.18 MS150C BL-12 @63-@240 | @127-@305



Siron

AUTO

G

A STRONGHOLD BY PRECISION AND POWER.

DR

=MERzLFEA

3-jaw draw down power chuck
1. R R AR R R R - EAREG RB

NI -

2. BUARBGH ITHRMEREER L - @XRHEE - BREUH -

3. EHREGE  IRBER  IRGEERFNEERBE -
4. EENBEERORBENIETHF 2T - ERREBENN

ITHEE -

Eh
u

o

=

S

| I

'
T L | AE A

B : mm

a2
B W W & M oBE e & o5 OW

DR-06 10 7.2 15(1530) 25(2549) 2.1(21.4) 3500 15 0.05 MS105C DR-06 @35-3165
DR-08B 10 7.2 25(2549) 45(4589) 2.5(25.5) 3000 25 0.14 MS125C DR-08 B40-3210
DR-10 16 11.6 35(3569) 60(6118) 3.3(34) 2500 46 0.374 MS125C DR-10 @50-B254
DR-10D 16 11.6 35(3569) 60(6118) 3.3(34) 2500 46.1 0.376 MS125C DR-10 B54-B254
DR-12 16 11.6 44(4487) 71(7240) 3(30.6) 2000 76 0.88 MS150C DR-12 @50-3304
B R

I )

DR-06 165 85 140 10478 16 6xM10 5 58 544 33 23 14 4 36 35 MI16x2.0 32 335 45 35 35 20 M6x12
DR-08B 210 90 170 13335 15 6xM12 5 713 677 38 28 15 5 36 40 M20x25 37 42 56 46 45 25 M8xl6
DR-10 254 110 220 17145 23 6xM16 5 854 796 48 32 20 4 46 50 M24x30 50 60 66 50 55 30 MS8x16
DR-10D 254 110 220 17145 23 6xM16 5 87.8 82 48 32 226 66 46 50 M24x3.0 50 60 686 526 85 30 M12x18
DR-12 304 125 220 171.45 23 6xM16 5 102.9 97.1 47 31 215 55 50 60 M27x3.0 52 60 725 565 100 35 M12x18

P165
P E S S

Floating plate center chuck
- ERREERERIME—RAMT -

INTEE

Possible processing range

B8fi7 : mm

2
mw xR x0T &

P165 35 1.0(10) 6000 18.5 0.02 MS125C35



AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

HN
= Mg EhZ R (SE )

3-jaw extra high speed through-hole
power chuck(adapter included)

1. R5@&E&EDE10,000r.p.m. °

2. HNEU R EE{R{RASA B5.9 AT T EiZE &R 5t -

.HNEXRERASHRESESMME - FRIEBIENEREEL NH
EEE > MRS REEE LTI -

GRIPAING CHARASTERISTIS GHAPH

ELEK] —a. i 4 STE

-

(=R e T

BIEIH]

e eonDy Guiddus

ETaM)

| M Al O ] YEaHH]

Rataticn speeditp m)

B5{i1 : mm

HN-06 236 12 5.5 30(3050) 79.4(8100) 2.9(30) 10000 11.5 0.035 HG-1336 Model-A ?14-@51

SB-ES
e TP

Pneumatic power chuck

1. B ERAREREER L
2. ERNNMERBZAEREEAS R B EE
3. BB FFH MmN MITE

ERTEE
Cig B 15 B Asii-rotaton pin v
K . 1 4 _..f’; =
A q-..!;‘-"— - i 8 Seratan Plich 1/18°80°
Dousis traadbot, A T S s 1T
- Dl 1
— &
T o e e M @
i = f
z ] 1
ol & 2l B | d lo
SeFHEY F——t¢ e i
A = & =1 I
] =
Al -2
|
1 e
Tl cmm
E._ L | = ", _Ealody yaka
FF p

B{i7 : mm
350-115 115 15 10 5 486 2-10 88 2200 104 1.82 13.5 SB350 SB350 @30-3360
*E 5 FHE S16barks

R

350-115 372 360 190 191.5 92 235 64/28 21 33.5 358 290.5 39.5 6-M12 115 6.5 100/85 12 33 3 21 G1/4" 44 92 M16 315 12 61 20 15



AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

600-275
850-375

PB-ES

SR BB TVEN T3 ER

Pneumatic power chuck

1. BRANEREZRBRIEE A SR EBIIEE -
2. BRER T MR MITE ©

3. BRFBFATEBNIERA -

4. BRFITERA -

a2
Hi - ——
fdE = P
L) E.-T.- esIurs contml b I~ A ,"
o '
& i
] {:‘
= =
=
1
=*
]
ol =l E 1] 1 3 .
Lo R R T =] S
& A Ty
e
.-"'"'F ! —
-
[ 1 |
E | I ) o 3R
¥ T . T 11 S Prakiaurs &l
— . CJEH“P!‘.;EII‘I:IHIII"I:H:I’I mmnuﬂm

J§— LT JJ_L_J

B : mm

275 254 16.9 8.5 954 2-10 180 1100 360 20.6 39.5 PB600  PB600 @135-@275
375 254 13.4 12 1342 2-10 250 750 980 110 68 PB850 PB850 @115-@375

*E (& FIE S 6barfF

R

600-275
850-375

605280282450 79/38 20 37 585508 2512-M12 275 8 204.6/179.2 14 26 3 25.5G1/2 57 116.5 M20 535 508 35 508 35 15 60
850352354 700 140/47 25 44.5830 745 30 12-M16 375 8 268/242.6 16 33 4 30 G1/2 75 182 M24 775 745 35 745 35 15 60




ll || S,
___ ___ 2R *

MEMO




